
●IEC60529 standard is a system for classifying the degrees of protection 
provided by the enclosures of electrical equipment, such as against dust and 
water.

IP67
is

●For outdoor use, direct sunlight will accelerate the degradation of the box.  For more information, please see page Outdoor Use - 1.
●For customers planning to attach their own original mounting brackets onto the waterproof boxes, it is recommended to mill larger holes with 

enough clearance to attach the bracket. If the milled hole and clearance is too small, it may cause irreparable damage to the box.
●Waterproof boxes made of Polycarbonate or ABS plastic material may be damaged if certain types of washing chemicals, solvents, oils, or 

thread locking adhesives are present on the box. Furthermore, paint not suitable to be used on plastic materials may also cause damage.

A point of note for Waterproof Boxes

No. Protection against ingress of liquid

0 No Protection

1 Dripping water (vertically falling 
drops) for 10 minutes.

2 15°
Vertically dripping water when 
tilted at 15° for 10 minutes (2.5 
minutes per position).

3 60°60°
Spraying water (at any angle) of 

vertical for 10 minutes. 

4 from all directions for 10 minutes.

5 ㎡ for at least 

6
Powerful jets of water projected by 

㎡ for at 

7 1M
Immersion, up to 1 meter depth 

8
Immersion (test depth and 
duration beyond IPX7 
requirements)

No. Protection against ingress of 
solid foreign objects

Protection against access to 
hazardous parts

0 No Protection No Protection

1 Ø50mm

Protected against 
solid objects over 
50mm.

50

Protected against 
accidental touch by a 
large surface of the 
body, such as by hands.

(Tested with a 50mm diameter steel ball.)

2 Ø12.5mm

Protected against 
solid objects over 
12.5mm.

12
Protected against 
accidental touch 

similar objects

3 Ø2.5mm

Protected against 
solid objects over 
2.5mm.

2.5

Protected against 
accidental touch by 
tools or thick wires.

(Tested with a 2.5mm diameter, 100mm long bar)

4 Ø1mm

Protected against 
solid objects over 
1.0mm.

1.0

Protected against accidental
touch by most wires and screws.
(Tested with a 1.0mm diameter, 100mm long wire)

5
Protected against 
dust; limited
ingress, no harmful 
deposits.

6
Complete 
protection
against dust.

Second digit: Liquid ingress protectionFirst digit : Solid particle protection

69K
0°

30°

60°
90°

80 to 100 barrel steam jets at 
80℃ (±5℃
and 90° angle,
at a distance of 100 ~ 150mm 

IP

PROTECTION CLASS (IP RATING)

Protection Class (IP Rating)-1



Highly elastic and durable silicone gasket for high waterpoof ability.
The use of insert nuts allows the unit to retain its waterproof ability even 
after multiple opening and closing.

Waterproofi ng ability by using 
silicone gasket

The white gray "G" type utilize a UV resistant, durable ASA material.
Recommended for outdoors usage as a communication device type 
equipment.

Weather-resistant ASA material

Easy installation on walls and
brackets

Easy mounting onto walls and brackets by opening the blind lids.
A clean and sleek appearance can be maintained as screws are hidden 
away by the blind lids.

By using a pole mounting accessory, it can be attached to poles with ease.

Easy installation on electrical poles 

Outdoors Use Example
IT Sensor Data Logger for agriculture
Product by Nishimu Electronics Industries Co., Ltd.
Website : nishimu.co.jp/index-e.html

WP SERIES

IP67
UV-PROTECT
NETWORK
PLASTIC BOX

WP-1



Please utilize a waterproof membrane keypad, membrane switch or overlay.
Note that the waterproof performance will be lost by drilling/milling holes or cutouts for buttons or switches on waterproof enclosures.

Cross-section
Obstruction

Thread hole milling from M6 ~ M32 sizes can be drilled as per your requirements.

Utilize a waterproof membrane keypad, membrane switch or overlay.
Note that the waterproof performance will be lost once holes or cutouts for buttons and/or switches drilled/machined on waterproof enclosures.

How to make buttons and switches waterproof

Please utilize a waterproof membrane keypad, membrane switch or overlay.
Note that the waterproof performance will be lost by drilling/milling holes or cutouts for buttons or switches on waterproof enclosures.

How to make waterproof buttons and switches

Product by Arrow7 (Japan)

WP-2



LeakLess Monitor - Industrial Pressure/Flow Data Logger

Product by SMTech (Croatia)

Leak Guard - Home Water Leak Ditector
Product by Veimart (Finland)

roduct by EASEL (Japan) Product by
Nishimu Electronics Industries (Japan)

Wireless Temperature/
Humidity Transmitter
Product by
Masibus Automation
And Instrumentation (India)

LoRaWAN Network
Air Pressure Sensor

Sigfox Remote 
Surveillance Sensor

IOT Sensor Data Logger
for AgricultureLoRa Gateway

LoRa = Long Range Transmission

APPLICATION EXAMPLEWP SERIES

Product by mcf88 (Italy) Product by SpaceAge Labs (Singapore)

WP-3



Network Sensor for Agriculture
Product by Demand Side Instruments (France)

Remote Sprinkler Control Unit

Product by Demand Side Instruments (France)

Argonomic Parameter
Surveillance Unit
LoRa Gateway
Product by
Argotec Engineering (Spain)

Maritime GPS Tracking System
Product by HidnSeek (France)

WP-4



■ IP67 protection class allows the unit to be used outdoors while protecting the internal 
components from dust and water.

■
gray color.

■ Addition of 8 sizes for a total of 24 different selectable sizes.
■ Mount on walls or brackets by simply opening the blind lids.
■ Pole mounting is possible via an optional pole mounting bracket accessory.

Components
No. Part name Pcs Material / Color

1 Top cover 1 ASA UL94HB / White gray : Flame-resistant ABS UL94V-0 / Charcoal gray

2 Bottom base 1 ASA UL94HB / White gray : Flame-resistant ABS UL94V-0 / Charcoal gray

3 Blind lids 2 ASA UL94HB / White gray : Flame-resistant ABS UL94V-0 / Charcoal gray

4 Gasket 1 Silicone / Black

5 Screw 4 ~ 8 Stainless steel binding head screw / Unfinished

WP SERIES IP67 NETWORK PLASTIC BOX

Technical Data

Protection class : IP67
Operating temperature : 

ASA  -30 ~ +60°C
ABS -10 ~ +50°C

WP5-7-2 ~ WP13-18-5 WP15-15-4 ~ WP20-28-7

1

4

2

5

33

May become brittle and break under impact
when temperature is lowered close to -30°C.

WP-5



Pole mount bracket  WPMB series
See page WPMB-1 

TORX screw  MR series
See page PFRF MR-1

Protective vent  PMF series
See PMF pages

Cable gland
See cable gland pages

PCB  mounting screw  EM series
See page EM MR-1

Rubber feet  PFRF series
See page PFRF MR-1

Pole mounting belt  PKB series
See page PKB-1

Product no. / Dimensions
Product no. Dimensions

Weight (g) Screw
Recommended torque (N  • m)

 White gray (ASA)  Charcoal gray (ABS) W D H Box Assembling PCB Mounting

WP 5- 7-2G WP 5- 7-2C  52  65 18  31.5 M2-8 x 4 pcs 0.2  ~ 0.25 0.12 ~ 0.15

WP 5- 7-3G WP 5- 7-3C  52  65 27  39.5 M2-8 x 4 pcs 0.2  ~ 0.25 0.12 ~ 0.15

WP 6- 8-2G WP 6- 8-2C  60  80 20  41.5 M2-8 x 4 pcs 0.25 ~ 0.3 0.12 ~ 0.15

WP 6- 8-3G WP 6- 8-3C  60  80 30  49 M2-8 x 4 pcs 0.25 ~ 0.3 0.12 ~ 0.15

WP 8- 8-2G WP 8- 8-2C  75  75 22  57.5 M2.5-8 x 4 pcs 0.25 ~ 0.35 0.12 ~ 0.15

WP 8- 8-4G WP 8- 8-4C  75  75 35  88.5 M2.5-16 x 4 pcs 0.25 ~ 0.35 0.12 ~ 0.15

WP 8-10-2G WP 8-10-2C  75 100 22  74 M2.5-8 x 4 pcs 0.25 ~ 0.35 0.12 ~ 0.15

WP 8-10-4G WP 8-10-4C  75 100 35  95 M2.5-16 x 4 pcs 0.25 ~ 0.35 0.12 ~ 0.15

WP 9-13-3G WP 9-13-3C  90 130 25 113 M2.5-8 x 6 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP 9-13-4G WP 9-13-4C  90 130 40 141 M2.5-16 x 6 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP10-10-3G WP10-10-3C 100 100 25  96 M2.5-8 x 4 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP10-10-4G WP10-10-4C 100 100 40 121 M2.5-16 x 4 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP11-15-3G WP11-15-3C 110 150 27 153 M2.5-8 x 6 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP11-15-4G WP11-15-4C 110 150 40 181 M2.5-16 x 6 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP13-18-3G WP13-18-3C 130 175 30 225 M2.5-8 x 6 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP13-18-5G WP13-18-5C 130 175 45 266 M2.5-16 x 6 pcs 0.25 ~ 0.35 0.2  ~ 0.25

WP15-15-4G WP15-15-4C 150 150 40 239 M3-8 x 4 pcs 0.35 ~ 0.45 0.2  ~ 0.3

WP15-15-6G WP15-15-6C 150 150 55 282.5 M3-8 x 4 pcs 0.35 ~ 0.45 0.2  ~ 0.3

WP15-21-4G WP15-21-4C 150 210 40 323 M3-8 x 6 pcs 0.35 ~ 0.45 0.2  ~ 0.3

WP15-21-6G WP15-21-6C 150 210 55 367.5 M3-8 x 6 pcs 0.35 ~ 0.45 0.2  ~ 0.3

WP20-20-5G WP20-20-5C 200 200 45 434 M3-8 x 8 pcs 0.35 ~ 0.45 0.2  ~ 0.3

WP20-20-7G WP20-20-7C 200 200 65 505 M3-8 x 8 pcs 0.35 ~ 0.45 0.2  ~ 0.3

WP20-28-5G WP20-28-5C 200 280 45 557.5 M3-8 x 8 pcs 0.35 ~ 0.45 0.2  ~ 0.3

WP20-28-7G WP20-28-7C 200 280 65 646 M3-8 x 8 pcs 0.35 ~ 0.45 0.2  ~ 0.3

■ Recommended torque listed is for reference only; actual may differ. Assemble after testing torque.

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

■ G color type shall undergo a revision. Color shall change from "White gray - RAL7035" to "Munsell N8.75 or similar".

RAL7035 Munsell N8.75 or similar

W

H

D

Accessories (Optional parts)

WP-6



Top cover (Internal) Bottom base (Internal)

Boss for PCB are located inside top covers of certain models. Detailed information available on DXF/DWG/PDF drawings.

W

a

D b

d

c

A
va

ila
bl

e 
ra

ng
e 

f

Available range j

A
va

ila
bl

e 
ra

ng
e 

i

Available range g

H

h1 h2

e

4-pcb boss mount
 (screw size k)

Gasket

Top cover (Internal) Bottom base (Internal)

A
va

ila
bl

e 
ra

ng
e 

f

Available range g

W

D

a

b

c c

d

A
va

ila
bl

e 
ra

ng
e 

i

Available range j

Gasket

e

H
h1 h2

6-pcb boss mount
(screw size k)

Product no. W D H h1 h2 a b c d e f g i j k

WP 9-13-3  90 130 25 12 13 53.8  93.7 4.5 18 111.2  90  79  91  81 M2.3

WP 9-13-4  90 130 40 12 28 53.8  93.7 4.5 33 111  90  79  91  81 M2.3

WP11-15-3 110 150 27 12 15 73.7 113.5 4.5 20 131.2 110  99 110 100 M2.3

WP11-15-4 110 150 40 12 28 73.7 113.5 4.5 33 131 110  99 110 100 M2.3

WP13-18-3 130 175 30 12 18 93.8 138.8 4.5 23 156.2 136 120 135 120 M2.3

WP13-18-5 130 175 45 12 33 93.8 138.8 4.5 38 156.2 136 120 135 120 M2.3

Product no. W D H h1 h2 a b c d e f g i j k

WP 5- 7-2  52  65 18 10  8 26.5 38.8 4 13 50.6 34.5 43.5 37 46 M2

WP 5- 7-3  52  65 27 10 17 26.5 38.8 4 22 50.8 34.5 43.5 36.5 45 M2

WP 6- 8-2  60  80 20 10 10 34.5 53.8 4 14.7 65.8 50 51.5 52 53.5 M2

WP 6- 8-3  60  80 30 10 20 34.5 53.8 4 24.7 65.4 50 51.5 51 53 M2

WP 8- 8-2  75  75 22 10 12 49.5 48.8 4 16.4 60.6 44 66 42 67 M2

WP 8- 8-4  75  75 35 10 25 49.5 48.8 4 29.4 60.4 43 66 42 66 M2

WP 8-10-2  75 100 22 10 12 46 71 4 16 85.6 69 66 67 67 M2

WP 8-10-4  75 100 35 10 25 46 71 4 29 85.4 69 66 67 66 M2

WP10-10-3 100 100 25 12 13 63.8 63.7 4.5 18 81.2 60 89 61 90 M2.3

WP10-10-4 100 100 40 12 28 63.8 63.7 4.5 33 81 60 89 61 90 M2.3

WP dimensions ■ Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

WP-7



Top cover (Internal) Bottom base (Internal)W

D

H
h1 h2

c c

d

A
va

ila
bl

e 
ra

ng
e 

f

Available range g

72

e1

e2

A
va

ila
bl

e 
ra

ng
e 

i

j
4-pcb boss mount

(screw size k)
6-pcb boss mount

 (screw size k)

a

b

Gasket

W

D

a

b

c c

72

e1

e2

A
va

ila
bl

e 
ra

ng
e 

f

Available range g

A
va

ila
bl

e 
ra

ng
e 

i

Available range j
6-pcb boss mount

(screw size k)
8-pcb boss mount

(screw size k)

H

d

h1 h2
Gasket

Top cover (Internal) Bottom base (Internal)

Product no. W D H h1 h2 a b c d e1 e2 f g i j k

WP15-15-4 150 150 40 17 23 102 102 5 33.5 86.5 117.5 99 139 100 141 M2.6

WP15-15-6 150 150 55 17 38 102 102 5 48.5 86.5 117.5 99 139 100 140 M2.6

Product no. W D H h1 h2 a b c d e1 e2 f g i j k

WP20-20-5 200 200 45 20 25 152 152 5 38.5 136.5 167.5 148 187 150 190 M2.6

WP20-20-7 200 200 65 20 45 152 152 5 58.5 136.5 167.5 148 187 149 189 M2.6

WP20-28-5 200 280 45 20 25 152 232 5 38.5 136.5 247.5 227 187 230 190 M2.6

WP20-28-7 200 280 65 20 45 152 232 5 58.5 136.5 247.5 227 187 229 189 M2.6

Product no. W D H h1 h2 a b c d e1 e2 f g i j k

WP15-21-4 150 210 40 17 23 102 162 5 33.5  86.5 177.5 159 139 160 141 M2.6

WP15-21-6 150 210 55 17 38 102 162 5 48.5  86.5 177.5 159 139 160 140 M2.6

W

D

a

b

H

d

h1 h2 e1

72 e2

Available range g

f egnar elbaliav
A

Available range j

A
va

ila
bl

e 
ra

ng
e 

i

c c

6-pcb boss mount (WP20-20 models)
8-pcb boss mount (WP20-28 models)

(screw size k)

6-pcb boss mount
(screw size k)

Gasket

Top cover (Internal) Bottom base (Internal)

WP-8



WEATHERBILITY / DURABILITY TEST DATA for IP rated boxes

Weather resistance is the ability of a material to prevent corrosion, loss of material or any sort of deterioration due 
to prolonged exposure to harsh environmental and weather conditions.
The test data for our weather resistance waterproof/dustproof cases are as detailed below.

TEST DETAILS ・TEST INSTRUMENT

No. Target box / Material Test time Color difference △Eab

① WP series - G color type
ASA material

100 hrs.
500 hrs.

0.9
3.3

② SPCP・SPCM series (Body)
Glassfiber-filled Polycarbonate material

100 hrs.
500 hrs.

2.9
7.8

③ BCPC・BCPK series (Top cover)
Polycarbonate material

100 hrs.
500 hrs.

3.8
7.9

④ BCPC・BCPK series (Base)
Glassfiber-filled Polycarbonate material

100 hrs.
500 hrs.

4.7
8.6

⑤ SPCP・SPCM series (Cover)
Polycarbonate material

100 hrs.
500 hrs.

3.7
10.6

⑥ BCAP series
ABS material

100 hrs.
500 hrs.

3.6
10.8

Better weather reistance

TEST DATA

Before testing (plastic material color)

① ② ③ ④ ⑤ ⑥

Outdoor Use-2

Tester : 　   Super Xenon Weather Meter SX75 - Suga Test Instruments Co., Ltd.
(Testing under conditions closest to the spectral distribution of sunlight by utilizing a xenon lamp and filter system.)

Irradiation Condition :   180 W/㎡ at 300 ～ 400nm 
Black panel humidity :
Relative Humidity :    50±10 %
Cycle conditions :         120 minutes (18 min. irradiation + water spay and 102 min. irradiation)
Test Time : 　  500 hours (continuous test)
Radiation Exposure : 
Measurements :            

   324 MJ/㎡

*Lesser color difference infers better weather resistance.

*Test data results are reference data only; does not reflect actual usage conditions.

After 500 hours testing (plastic material color)

63±3 °C

Color measurements performed based upon JIS Z 8722 standard, with the results based upon JIS Z8781-4 standard.



■ Pole mount bracket made from weather resistant ASA material.
■ Hole milling is not required when installing the mount bracket,  thus allowing the enclosure to maintain its IP67 protection.
■ WPMB-M4-2 can be used both for vertical and horizontal installation.
■ Together with WPMB series, the PKB series mounting belt enables the unit to be mounted onto a pole.

WPMB SERIES POLE MOUNT BRACKET

Product no. / Dimensions ■ Please suffix color code at the end of the product number.

Product no.
Dimensions

Material / Finish Screw Suitable enclosures Recommended torque
(N •  m)

Weight
(g) Pack of

W D H L

WPMB-M3 18 14  9.5 11 ASA UL94HB
Stainless steel 
M3-6 x 2 pcs

WP5-7-2 • 5-7-3 • 6-8-2 • 6-8-3 • 8-8-2 • 
8-8-4 • 8-10-2 • 8-10-4

0.4 ~ 0.45  3 2 (pair)

WPMB-M4 28 18 12 13 ASA UL94HB
Stainless steel 
M4-8 x 2 pcs

WP9-13-3 • 9-13-4 • 10-10-3 • 10-10-4 • 
11-15-3 • 11-15-4 • 13-18-3 • 13-18-5

0.45 ~ 0.5 10 2 (pair)

WPMB-M4-2 92 92 12 13 ASA UL94HB
Stainless steel
 M4-6 x 2 pcs

WP15-15-4 • 15-15-6 • 15-21-4 • 15-21-6 • 
20-20-5 • 20-20-7 • 20-28-5 • 20-28-7

0.45 ~ 0.5 24 1

■ Recommended torque listed is for reference only; actual may differ. Assemble after testing torque.

NEW

■ DXF/DWG/PDF drawings available on our website.

Insert nut
W

D

H

L

WPMB-M3 WPMB-M4

72

w 92

D
 9

2

H

L

WPMB-M4-2

Color Type
Code Color

G White gray

D Dark Gray

WPMB-M3/WPMB-M4 WPMB-M4-2

Accessories (Optional parts)

WPMB-1



PKB-1

PKB SERIES POLE MOUNTING BELT

PKB-10PM, 10P

0 0
0 

0

(49.5)

(1
6.

5)

(49.5)

(2
7.

4)
H

D

POM stopper

W

Belt length

PET belt

Stainless steel stopper Stainless steel belt

Stainless steel stopper Stainless steel belt

0.
5

10

1500

0.
3

10

1500

0.
3

20

12
12

PKB-10S

PKB-20S

Components
Part name Pcs Material Color / Finish

Stopper 2 POM • Stainless steel SUS304 Black • Barrel finish

Belt 2 PET • Stainless steel SUS430 Gray • Bright Annealed finish

PKB−10PM, 10P PKB−10S,  20S

PKB dimensions

■ New shorter belt type PKB-10PM is available for φ25 to φ60mm poles.

Other belt types are for φ60 to φ400mm poles.
■ Designed for one time use only (not reusable).
■ Strong stainless steel clamping type and easy installation plastic type are 

available.
■ Use SSK mounting bracket for installation onto a pole.

■   Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

Product no. / Dimensions
Product no. W D H Belt material Belt length Tensile strength (horizontal) Weight (g) Pack of

PKB-10PM 24 23 11 PET   500mm 0.8kN  14 2

PKB-10P 23 40 11 PET 1,500mm 1.3kN  31.8 2

PKB-10S ─ ─ ─ Stainless steel 1,500mm 1.4kN 101.6 2

PKB-20S ─ ─ ─ Stainless steel 1,500mm 2.9kN 182.2 2

NEW

Accessories (Optional parts)

EN6_FTB-CK_MT_WEB.indd   23 19/10/18   10:15



■ Recommended to be used with WP series as a desktop-type unit.
■ gly into the screw holes.
■ Made from elastomer material.
■ Unavailable for use with WP5-7-2, 5-7-3, 6-8-2, and 6-8-3 models.

2
5.

5

ΦB

A

■ Recommended to be used for tamper resistance, or for an elegant look and feel.
■ Requires the use of a specialized screwdriver.
■ Unavailable for use with WP5-7-2, 5-7-3, 6-8-2, and 6-8-3 models.

Head type (with pin)

Pin

PFRF SERIES RUBBER FEET

MR SERIES TORX SCREW for WP

Accessories (Optional parts)

Product no. / Dimensions ■ UL94HB

Product no.
Dimensions

Material Color Suitable enclosures Pack of
A B

PFRF-M2.5D 6.4 10 Elastomer UL94HB Dark gray
WP models:    8-8-2 • 8-8-4 • 8-10-2 • 8-10-4 • 9-13-3 • 9-13-4 • 10-10-3 • 

10-10-4 • 11-15-3 • 11-15-4 • 13-18-3 • 13-18-5
4

PFRF-M3D 7.2 11 Elastomer UL94HB Dark gray
WP models:   15-15-4 • 15-15-6 • 15-21-4 • 15-21-6 • 20-20-5 • 20-20-7 • 

20-28-5 • 20-28-7
4

Product no. / Dimensions

Product no.
Dimensions

TORX head no. Material Finish Suitable enclosures Pack of
M L

MR2.5-8ST 2.5  8 T 8 (with pin) Stainless steel Unfinished WP8-8-2 • 8-10-2 • 9-13-3 • 10-10-3 • 11-15-3 • 13-18-3 / WSC series 20

MR2.5-16ST 2.5 16 T 8 (with pin) Stainless steel Unfinished WP8-8-4 • 8-10-4 • 9-13-4 • 10-10-4 • 11-15-4 • 13-18-5 20

MR3-8ST 3  8 T10 (with pin) Stainless steel Unfinished
WP15-15-4 • 15-15-6 • 15-21-4 • 15-21-6 • 20-20-5 • 20-20-7 • 20-28-5 • 
20-28-7

20NEW

PFRF MR-1



EM • MR-1

■ Self-tapping screws for mounting PCB on bosses or standoffs.
■ EM-3-6 self-tapping screws are suitable for mounting 1.6mm or thicker PCB.

Product no. / Dimensions ★Mark = Without pin

Product no. M L head no. Head style Material Finish Suitable enclosures Pack of

MR1.6-6S★ 1.6  6 T3 Pan Steel Nickel plated CS • CSS 20

MR2.5-8PS 2.5  8 T8 Pan Steel Nickel plated PF • PFE • PFF (M2.5 size) 20

MR2.6-10S★ 2.6 10 T8 Countersunk Steel Nickel plated TW • TWN (M2.6 models)
TWF (M2.6 models)
MX • MXA • MXB • MXF (M2.6 models)

20

MR2.6-10B★ 2.6 10 T8 Countersunk Steel Black trivalent chromate 20

MR2.6-12PS 2.6 12 T8 Pan Steel Nickel plated
LCT • LCS • LC115-F2 / F3
LCT • LCS • LC145S-F6

20

MR2.6-14PS 2.6 14 T8 Pan Steel Nickel plated

LCT • LCS • LC115H-F2 / F3 / M2 / 9V
LCT • LCS • LC135-F4 / M2 / M3 / 9V
LCT • LCS • LC135H-F4 / M2 / M3 / 9V
LCT • LCS • LC145-F6 / M2 / M4
LCT • LCS • LC145H-F6 / M2 / M4
LCT • LCS • LC165-M4
LCT • LCS • LC165H-M4

20

MR2.6-14S 2.6 14 T8 Countersunk Steel Nickel plated

LCT • LCS • LC115-N / F2 / F3
LCT • LCS • LC145S-F6 / 145S-N
LCE115-N
TW • TWN7-2-11 / 7-4-11 / 7-5-11
TWF7-2-11 / 7-4-11 / 7-5-11 / 8-2-8 / 8-4-8

20

MR2.6-18S 2.6 18 T8 Countersunk Steel Nickel plated

LCT • LCS • LC115H-N / F2 / F3 / M2 / 9V
LCT • LCS • LC135-N / F4 / M2 / M3 / 9V
LCT • LCS • LC135H-N / F4 / M2 / M3 / 9V
LCT • LCS • LC145-N / F6 / M2 / M4
LCT • LCS • LC145H-N / F6 / M2 / M4
LCT • LCS • LC165-N / M4
LCT • LCS • LC165H-N / M4
LCE115H-N • LCE135-N • LCE145H-N • LCE165H-N

20

MR3-8PS 3  8 T10 Pan Steel Nickel plated PF • PFE • PFF (M3 size) 20

MR3-14S★ 3 14 T10 Countersunk Steel Nickel plated TW • TWN (M3 models)
TWF (M3 models)
MX • MXA • MXB • MXF (M3 models)

20

MR3-14B★ 3 14 T10 Countersunk Steel Black trivalent chromate 20

MR-2S★ 3 10 T10 Countersunk Steel Nickel plated HEN 20

Countersunk head

L

M

Pan head

L

M

★ : MR1.6-6S, MR-2S, MR2.6-10□, and MR3-14□ are 
without pin.

EM SERIES PCB MOUNTING SCREW

MR SERIES TORX SCREW

M

L

Without pinWith pin

pin

★

Product no. / Dimensions
Product no. M L Material Finish Suitable enclosures Pack of

EM-1.6 1.6 4 Steel Trivalent chromate WC • CSS • CS • PS (M1.6 size) 50

EM-2 2 5 Steel Trivalent chromate PS • TW • TWN • TWF • WP (M2 size) 50

EM-2.3 2.3 6 Steel Trivalent chromate

WH • LC • LCT • LCS • LCE • PFE
WSC (Top cover bosses)
PF • PFF (M2.3 size)
TW • TWN • TWF (M2.3 size)
WP (M2.3 size)

50

EM-2.3-8 2.3 8 Steel Trivalent chromate WSC (Bottom base bosses) 50

EM-2.6 2.6 6 Steel Trivalent chromate PF • PFF • WP (M2.6 size) 50

EM-3 3 5 Steel Trivalent chromate
SU
TWS • TW • TWN • TWF (M3 sizes)

50

EM-3-6 3 6 Steel Trivalent chromate 50

NEW

Accessories (Optional parts)

EN8_TNF-FDR_WEB.indd   26 19/10/18   10:21



WP-PMF-1

2.. WP20-28-7G - PMF-12HAG Installed on 1 side[Evaluation Target] 1. WP20-28-7G

[Test Conditions] Heat Cycle Test

Device : Constant temperature/humidity test chamber - LH43-W14P
Make : NAGANO SCIENCE CO., LTD.

Heat cycle testing in -10℃ 〜 +60℃ (Operating temperature for WP enclosures)
1 cycle : -10℃ 3 hours / 60℃ 3 hours
Tested 5 cycles.

Test Result : 1. WP20-28-7G :
Increased air pressure within the enclosure and unable to be balanced/vented (deformation).

Before After
Top/Expanded Bottom/Expanded

Test Result : 2. WP20-28-7G - PMF-12HAG Installed on 1 side
Air pressure within the enclosure balanced/vented through the protective vent (no deformation).

Before After
Top/No deformation Bottom/No Deformation

WP series enclosure comes with a silicone gasket, which allows the enclosure to be extremely airtight when assembled.
When facing with high temperature fluctuations over a period of time, the pressure within the enclosure will increase accordingly.
If this air pressure within is unable to be properly vented, it may cause the enclosure to deform, such as expanding past its normal size.
By installing the PMF series protective vent, it will assist in equalizing the air pressure, and prevent potential deformation.

Effect of PMF Series Protective Vent on WP series Box



Best suited for desktop operation with its sloped surface.
2 different inclined angles, 13° and 18° are available to select for various operating environments.
Streamlined shape enables the unit to be gripped better when used as a handheld instrument.

Ergonomic design and streamlined shape.

Built-in insert nut use for long-lasting protection even after frequent opening and closing.

Best suited for desktop operation with its sloped surface.

2 angles : 13° and 18° 

Photo : 13° type

WSC SERIES
IP67 SLOPED PLASTIC CASE

WSC-1



APPLICATION EXAMPLE

Please utilize a waterproof membrane keypad, membrane switch or overlay.
Note that the waterproof performance will be lost by drilling/milling holes or cutouts for buttons or switches on waterproof enclosures.

How to make waterproof buttons and switches

Please utilize a cable gland from our available range of cable gland accessories.

How to make waterproof cable hole

Medical Measurement Device Medical Controller

Digital Card Reader
Transmitter 
Network Equipment

WSC-2



■ Suitable as a desktop controller or measurement instrument with its ergonomic 
design.

■ Streamlined shape enables the unit to be gripped better when used as a 
handheld instrument.

■ IP67 protection class allows the unit to be used outdoors or under environments 
with water splashes, such as medical, research or measurement equipments.

Components
No. Part name Pcs Material Color / Finish

1 Top Cover 1 Flame-resistant ABS UL94V-0 Off white • Black

2 Bottom base 1 Flame-resistant ABS UL94V-0 Off white • Black

3 Gasket 1 Silicone Black

4 Screw 4 Stainless steel binding head screw M2.5-8 Unfinished

5 Rubber feet 4 Polyurethane Transparent

Technical Data

Protection class : IP67
Operating temperature : -10°C ~ +60°C
Recommended torque : 0.2 ~ 0.3N • m

WSC SERIES IP67 SLOPED PLASTIC CASE

1

4

3

Accessories (Optional parts)

2

5

TORX screw MR series
See page  EM MR-1

Cable gland
See cable gland pages

PCB mounting screw EM series
See page EM MR-1

WSC-3



■ Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

A

A

Top Cover (Internal)Top Cover (External)

A-AW

D

H
1.

2

1
3

4.5

e

a

b

c

d

g

f

h

4-M2.5 Insert nut

■ Due to the sloped shape of the WSC series, boss-tops are also angled.
So when mounting PCB on, some gap between the screw head and PCB 

the gap.
■ EM-2.3-8 as PCB mounting screws are available for bosses in bottom 

base. (See page 22)

WSP-M2.3 INCLINED SPACER

Components
No. Part name Pcs Material Color / Finish

1 Inclined spacer 4 POM Black

2 Screw (Tapping M2.3-8) 4 Steel Trivalent chromate
■ Torque 0.1N • m

Product no. / Dimensions
Product no. Dimensions Face angle

 Off white  Black W D H a b c d e f g h

WSC10-14-5W WSC10-14-5B 100 140 52  77 117  87 100 10 13.9  48.2 13°

WSC10-14-7W WSC10-14-7B 100 140 72  77 117  87 100 22 27.4  48.2 18°

WSC14-14-5W WSC14-14-5B 140 140 52 117 117 128 100 10 13.8  80.5 13°

WSC14-14-7W WSC14-14-7B 140 140 72 117 117 128 100 22 27.4  80.5 18°

WSC18-14-5W WSC18-14-5B 175 140 52 152 117 163  95 11.3 13.8 103.5 13°

WSC18-14-7W WSC18-14-7B 175 140 72 152 117 163  95 23.7 27.4 103.5 18°

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

NEW

Product no. / Details
Product no. Suitable enclosures Pcs

WSP-M2.3 WSC (for bottom base PCB boss) 4NEW

2 1

WSC dimensions

WSC-4



BCAS-1

■ Small-sized frontal screw fastening type waterproof box.
■ Available in 39 different sizes.
■ Applicable for various uses as wiring pull box, terminal junction box, switch 

box and so on.

Components
No. Part name Pcs Material Color / Finish

1 Top cover 1 ABS UL94HB White gray

2 Body 1 ABS UL94HB White gray

3 Gasket 1 Polyurethane Black

4 Cover screw 4 Nylon • Stainless steel (BCAS050604G and BCAS050605G only) White gray • Unfinished

5 Tapping screw (for mounting plate) 2 ~ 4 Steel Trivalent chromate

APPLICATION EXAMPLE TERMINAL JUNCTION BOX

BCAS SERIES IP65 PLASTIC PULL BOX

12

5

3

4

AIR PIPE CONTROLLER

SWITCH BOX

METEOROLOGICAL MONITOR TRANSMITTER

Product by Midori Engineering Laboratory (Japan)

Technical Data

Protection class: IP65
Operating temperature: -10°C ~ +60°C
Recommended torque:
 1N • m ~ 1.5N • m
 (1N • m for BCAS050604G, BCAS050605G)

EN3_SPCM-SP_WEB.indd   17 19/10/18   10:08



BCAS-2

Product no. / Dimensions

Product no.
Dimensions (External) Dimensions (Internal)

Weight (g)
W D H w d h

BCAS050604G  50  65  45  43.5  41  33  69

BCAS050605G  50  65  55  43.5  41  43  76

BCAS060905G  65  95  55  55.5  59  41.5 124

BCAS071005G  75 105  55  66  69  41.3 148

BCAS080806G  80  80  60  70.5  44  46.4 133

BCAS081104G  80 110  45  71  74  32.2 138

BCAS081107G  80 110  70  69.5  73.5  57 165

BCAS081108G  80 110  85  70  75  71.8 191

BCAS081110G  80 110 100  70  75  86.2 227

BCAS081307G  80.5 130  70  70.5  94  56.5 188

BCAS081308G  80 130  85  70.5  94  71.5 222

BCAS081807G  80 180  70  70.5 143.5  57 233

BCAS081808G  80 180  85  70.5 143.5  71.5 275

BCAS082507G  80 250  70  70 213.5  56.5 294

BCAS082508G  80 250  85  70 213.5  71.5 348

BCAS101007G 101.5 101.5  75  91  64  61.5 212

BCAS101010G 101.5 101.5 100  90  64  86.5 253

BCAS101807G 100 185  70  90 148.5  56.7 298

BCAS102007G 100 200  70  90.5 163.5  56.5 282

BCAS102307G 100 230  70  90.5 193.5  56.4 336

BCAS121207G 125 125  75 114  88.5  62 252

BCAS121210G 125 125 100 114  87.5  87 311

BCAS141709G 143 173  95 133 134  82 416

BCAS142309G 140 230  95 129 193  81.5 485

BCAS151507G 150 150  75 140 114  61.5 322

BCAS151510G 150 150 100 139 114  86.5 398

BCAS152004G 150 200  46 140 164  32.4 335

BCAS152007G 150 200  75.5 138 164  61.5 423

BCAS152010G 150 200 100.5 139 161.5  86.5 473

BCAS152013G 150 200 130.5 139.5 161 116.5 582

BCAS152016G 150 200 160 139 163 146.5 631

BCAS152510G 150 250 100 139.5 214  86.4 565

BCAS152513G 150 250 130 139.5 214 116.4 687

BCAS161607G 160 160  70 150 123.5  56.5 334

BCAS202010G 200 200 100 189 164.5  86 604

BCAS202013G 200 200 130 189 164.5 117 685

BCAS202016G 201 201 161 187.5 164.5 147 801

BCAS202019G 201 201 190 187.5 164.5 176.3 907.5

BCAS212310G 210 230 100.3 198.8 194.2  87.1 644.5

◎ : Guide markings for installation of optional latch/hinge parts.

BCAS dimensions ■   Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

D

H

d

W

w

h

Accessories (Optional parts)

Mounting plate BMP series
See page BCAS-3 ~ BCAS-4

Latch • Hinge BCL55 • BCH55
See page BCAS • BCAL-ACC-1

Spare cover screw CB series
See page BCAS • BCAL-ACC-3

Cable gland
See cable gland pages

Mounting bracket CK series
See page BCAS • BCAL-ACC-2

EN3_SPCM-SP_WEB.indd   18 19/10/18   10:08



BCAS-3

bD

2-Φ6W

1.
6

1.
6

D b

W

a 4-Φ6

Components
Part name Material Color / Finish

Mounting plate Steel t=1.6 Zinc coated

■ Strong but easily customizable.

BMP0506Z ~ 1525Z BMP2020Z, 2123Z

BMP-Z SERIES STEEL MOUNTING PLATE

Product no. / Dimensions
Product no. W D a b Suitable box Weight (g)

BMP0506Z  41  56 −  40 BCAS050604, 050605  23

BMP0609Z  52  82 −  65 BCAS060905  41

BMP0710Z  62  92 −  75 BCAS071005  63

BMP0808Z  67  67 −  50 BCAS080806  47

BMP0811Z  68  98 −  80 BCAS081104, 081107, 081108, 081110  72

BMP0813Z  68 118 −  99 BCAS081307, 081308  87

BMP0818Z  69 169 − 150 BCAS081807, 081808 134

BMP0825Z  69 239 − 220 BCAS082507, 082508 193

BMP1010Z  86  86 −  60 BCAS101007, 101010  80

BMP1018Z  89 173 − 139 BCAS101807 177

BMP1121Z  77 177 − 158 BCAS102007 159

BMP1023Z  88 218 − 184 BCAS102307 226

BMP1212Z 114 114 −  70 BCAS121207, 121210 151

BMP1417Z 132 162 − 130 BCAS141709 251

BMP1423Z 123 213 − 190 BCAS142309 305

BMP1515Z 121 121 − 110 BCAS151507, 151510 172

BMP1616Z 142 142 − 120 BCAS161607 237

BMP1520Z 126 176 − 160 BCAS152004, 152007, 152010, 152013, 152016 262

BMP1525Z 127 227 − 210 BCAS152510, 152513 346

BMP2020Z 176 176 120 150 BCAS202010, 202013, 202016, 202019 371

BMP2123Z 183 203 160 180 BCAS212310 447

Accessories (Optional parts)

■   Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

EN3_SPCM-SP_WEB.indd   19 19/10/18   10:08



BCAS-4

■ Lightweight ABS plastic mounting plate.
■ Not available for BCAS050604, 050605, 060905, 071005, 080806, 101807,   

102307, and 212310 models.

Components
Part name Material Color / Finish

Mounting plate ABS White gray

BMP0811P BMP0813P ~ 1616P BMP0825P, 1423P, 1520P, 1525P BMP2020P

Product no. / Dimensions
Product no. W D a b c(Φ)  Thickness Suitable box Weight (g)

BMP0811P  64.5  94.3 −  68.4 − 3.5 BCAS081104, 081107, 081108, 081110  21

BMP0813P  64.5 114.5 −  99 Φ6 3.5 BCAS081307, 081308  24

BMP0818P  64.5  164 − 148.5 Φ6 3.5 BCAS081807, 081808  37

BMP0825P  64.2 234.5 − 219.5 Φ6 3.5 BCAS082507, 082508  59

BMP1010P  81.5  81.2 −  60 Φ6 3.5 BCAS101007, 101010  22

BMP1121P  76.5 175.8 − 157.8 Φ6 3 BCAS102007  40

BMP1212P 107 107 −  70 Φ5.5 3.5 BCAS121207, 121210  39

BMP1417P 125.5 155.5 − 130 Φ6 3.5 BCAS141709  69

BMP1423P 122.6 212.5 − 190 Φ5.5 3.7 BCAS142309 103.5

BMP1515P 123 123 110 110 Φ6 3.5 BCAS151507, 151510  52

BMP1616P 143.5 143.5 − 120 Φ6 3.2 BCAS161607  66

BMP1520P 129 179 − 160 Φ5.5 3.5 BCAS152004, 152007, 152010, 152013, 152016  92

BMP1525P 129 228.5 − 210 Φ6 3.5 BCAS152510, 152513 112

BMP2020P 178.5 178.5 120 150 Φ5.5 3.5 BCAS202010, 202013, 202016, 202019 125

c

D b

W

a

c

BMP1515P 
only

c

D bb

W

D

11
.8

6

W 50

a

bD

W

BMP1520P only

BMP-P SERIES PLASTIC MOUNTING PLATE

Accessories (Optional parts)

■   Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

EN3_SPCM-SP_WEB.indd   20 19/10/18   10:08



BCAL-1

■ Large-sized frontal screw fastening type waterproof box.
■ 11 different sizes available.
■ Applicable for uses in various fields such as FA, control box, network 

communication, and so on.
■ 2 different top cover models (ABS-White gray • Polycarbonate-

Transparent) are available.
■ Guide markings are available for installation of optional latch/hinge parts.

Components
No. Part name Pcs Material Color / Finish

1 Top cover 1 ABS UL94HB • Polycarbonate (UL94V-0) White gray • Transparent

2 Body 1 ABS UL94HB White gray

3 Gasket 1 Polyurethane Black

4 Cover screw 4 ~ 6 Nylon White gray • Unfinished

5 Tapping screw (for mounting plate) 4 Steel Trivalent chromate

◎ : Guide markings

BCAL SERIES IP65 PLASTIC BOX

2

3

1

5 4

Technical Data

Protection class: IP65
Operating temperature: -10°C ~ +60°C
Recommended torque: 1N • m ~ 1.5N • m

EN3_SPCM-SP_WEB.indd   21 19/10/18   10:08



BCAL-2

Product no. / Dimensions
Product no. Dimensions (External) Dimensions (Internal)

Weight (g)
G type T type

W D H w d hTop cover Body Top cover Body

● White gray ○ Transparent ● White gray

BCAL191913G BCAL191913T 190 190 128 167 140 111.5 722

BCAL192813G BCAL192813T 190 280 128 166 229 111.5 896

BCAL192818G BCAL192818T 190 280 178 164 230 162 1,009

BCAL193813G BCAL193813T 190 380 128 167 329 111 1,143

BCAL193818G BCAL193818T 190 380 178 165 327.5 162 1,258

BCAL282813G BCAL282813T 280 280 128 256 229 112 1,148

BCAL283413G BCAL283413T 280 340 128 255.5 287 111.8 1,441

BCAL283813G BCAL283813T 280 380 128 256 329 111.5 1,423

BCAL283818G BCAL283818T 280 380 178 254 324 161.5 1,745

BCAL285613G BCAL285613T 280 560 128 255 507 112 2,272

BCAL385618G BCAL385618T 380 560 178 354 505 159.7 2,948

Mounting plate BMP series
See page BCAL-3

Latch • Hinge BCL65 • BCH65
See page BCAS • BCAL-ACC-1

Spare Cover screw CB28 series
See page BCAS • BCAL-ACC-3

Cable gland
See cable gland pages

Mounting bracket CK-26P
See page BCAS • BCAL-ACC-2

Accessories (Optional parts)

BCAL dimensions ■   Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

W
w d

hH

D

APPLICATION EXAMPLE
INCLINOMETER for Bridge Construction
Product by Akasakatec Inc. (Japan)

CONTROL BOX

EN3_SPCM-SP_WEB.indd   22 19/10/18   10:08



BCAL-3

t

4-c

D b

W

a

t

2-c
W

D b

2-c

t
D b

t

b

W

D

11
.8

6

W

■ Strong but easily customizable.
■ Material/Finish : Steel t=1.6mm / Zinc coated

Product no. / Dimensions
Product no. W D a b c (Φ) t Suitable box Weight (g)

BMP1919P 159 159 120 120 Φ8 4 BCAL191913 104

BMP1928P 158.5 248 120 210 Φ8 3.5 BCAL192813, 192818 162

BMP1938P 159 348 120 310 Φ8 4.5 BCAL193813, 193818 236

BMP2828P 248.5 248.5 210 210 Φ8 4 BCAL282813 237

BMP2838P 248 347.5 209 309.5 Φ8 4 BCAL283813, 283818 368

bD
2-Φ6W

1.
6

1.
6

D b

W

a 4-Φ8 8-Φ8

W

a

D b

t

Additional holes for reinforcement.
Use MT5-8T screws 
(see page BCAS • BCAL-ACC-3)

BMP1919Z ~ 2838Z

8-Φ8 W
a

70D
b

b
1.

6

Additional holes for reinforcement.
Use MT5-8T screws 
(see page BCAS • BCAL-ACC-3)

BMP2856Z ~ 3856Z

■ Not available for BCAL283413, 285613, and 385618 models.
■ Material/Color : ABS / White gray

Product no. / Dimensions
Product no. W D a b Suitable box Weight (g)

BMP1919Z 159 159 120 120 BCAL191913 303

BMP1928Z 157 247 120 210 BCAL192813, 192818 462.5

BMP1938Z 159 347 120 310 BCAL193813, 193818 676.5

BMP2828Z 246 246 210 210 BCAL282813 727.5

BMP2834Z 246 306 210 270 BCAL283413 920

BMP2838Z 246 346 210 310 BCAL283813, 283818 1,018

BMP2856Z 248 528 210 210 BCAL285613 1,571

BMP3856Z 348 528 310 210 BCAL385618 2,210

BMP-Z SERIES STEEL MOUNTING PLATE

▪ DXF/DWG/PDF drawings available on our website.

BMP-P SERIES PLASTIC MOUNTING PLATE

Accessories (Optional parts)

EN3_SPCM-SP_WEB.indd   23 19/10/18   10:08



BCAL • BCAS-ACC-1

Components
Part name Pcs Material Color / Finish

Hinge 1 Stainless steel SUS304 Unfinished

Bracket 2 Stainless steel SUS304 Unfinished

Gasket 2 EPDM Black

Product no. / Suitable box
Product no. Suitable box Included screw

BCH55
BCAS series
Not available for BCAS050604, 050605, 060905, 071005, 080806,
081104, 101807, 102007, 102307, 152004, and 161607 models.

Truss head M4-10

BCH65 BCAL series Truss head M4-10

Φ4.5 33

16

Φ4.5

3525

25

16

32 47

Components
Part name Pcs Material Color / Finish

Latch 1 Stainless steel SUS304 Unfinished

Hook 1 Stainless steel SUS304 Unfinished

Bracket 2 Stainless steel SUS304 Unfinished

Gasket 2 EPDM Black

Φ4.5

Φ4
16

16
30

Φ4.4

Φ5

42
16

16

■ Refer to ◎ guide markings on BCAS • BCAL box when installing.

BCH55 BCH65

BCL55 BCL65

Product no. / Suitable box
Product no. Suitable box Included screw

BCL55
BCAS series
Not available for BCAS050604, 050605, 060905, 071005, 080806,
081104, 101807, 102007, 102307, 152004, and 161607 models.

Truss head M4-10

BCL65 BCAL series Truss head M4-10

■ Refer to ◎ guide markings on BCAS • BCAL box when installing.

BCH SERIES HINGE for BCAS • BCAL

BCL SERIES LATCH for BCAS • BCAL

Accessories (Optional parts)

EN3_SPCM-SP_WEB.indd   24 19/10/18   10:08



BCAL • BCAS-ACC-2

CK-34Z dimensions CK-26P dimensions

Product no. / Suitable box
Product no. Material Finish Suitable box Included screw Pack of

CK-34Z Stainless steel SUS304 Barrel finish BCAS series (Not applicable for BCAS050604, 050605 models) − 4

CK-35P Stainless steel SUS304 Barrel finish BCAS050604G, BCAS050605G Pan head tapping M4-10 4

CK-26P Stainless steel SUS304 Barrel finish BCAL series Pan head M5-10 4

6

12

4.2

4

34

6

5
7

6

15

7

2
17

2

4.
5

11
9

41

1218

6.5

20
2

19

99

2

Components
Part name Material Color

Blind plug ABS White gray

Product no. / Suitable box
Product no. Suitable box Pack of

BCM-1 BCAS series (Not available for BCAS050604, 050605 models) 1

BCM-2 BCAL series 1

■ CK-34Z model requires the use of MT4-10 screw.

Product no. / Feature
Product no. Material Finish Pack of

MT4-10 (Pan head M4-10) Stainless steel Unfinished 4

■ Use together with CK-34Z.

■ Blind plug for BCAS • BCAL when installing hinges and latches. 
Not usable when using cover screws.

CK-34Z CK-26P

BCM SERIES BLIND PLUG for BCAS • BCAL

CK SERIES STAINLESS STEEL MOUNT BRACKET

MT4-10 MOUNTING SCREW

CK-35P dimensions

7.5

15

5.5

5

43

7.5

5
10

8.
5

20

8

2
21

2

Accessories (Optional parts)

EN3_SPCM-SP_WEB.indd   25 19/10/18   10:08



BCAL • BCAS-ACC-3

Product no. / Feature / Suitable box
Product no. Material Color Suitable box Pack of

CB28P Fiblerglass • Nylon White gray BCAL series 1

CB28M Fiblerglass • Nylon White gray BCAL series 1

66

4850
.8

45
.8

Product no. / Feature
Product no. Material Finish Pack of

MT4-8T (Binding head tapping M4-8) Steel Trivalent chromate 20

MT5-8T (Binding head tapping M5-8) Steel Trivalent chromate 20

Product no. / Feature / Suitable box
Product no. Material Color Pack of

CB20 Fiblerglass • Nylon White gray 1

CB35 Fiblerglass • Nylon White gray 1

CB50 Fiblerglass • Nylon White gray 1
67

36

51
.5

Product no. Suitable box

CB20

BCAS060905, 071005, 080806, 081104, 081107, 081108, 081307, 081807, 082507, 101007, 101010, 101807, 102007, 102307, 
121207, 121210, 141709, 142309, 151507, 151510, 152004, 152007, 152010, 152013, 152510, 161607, 202010, 202013, 
202016, and 212310 models
TMB-15PS, 20P, 20PL

CB35 BCAS081110, 081308, 081808, and 082508 models

CB50 BCAS152016, 152513, and 202019 models

CB28P CB28M

Sui tab le  box  char t
Product no. Suitable box Tightening torque

MT4-8T

BCAS071005, 081104, 081107, 081108, 081110, 081307, 081308, 081807, 081808, 082507, 082508, 
101007, 101010, 101807, 102007, 102307, 121207, 121210, 141709, 142309, 151507, 151510, 152004, 
152007, 152010, 152013, 152016, 152510, 152513, 161607, 202010, 202013, 202016, 202019, and 
212310 models.

0.7N • m

MT5-8T BCAL series 1.4N • m

CB20 CB35 CB50

CB20 CB35 CB50

CB28P CB28M

■ Mounting screw for the bosses without insert-nut.

MT SERIES PCB MOUNTING SCREW

CB SERIES SPARE COVER SCREW for BCAS

CB SERIES SPARE COVER SCREW for BCAL

Accessories (Optional parts)

EN3_SPCM-SP_WEB.indd   26 19/10/18   10:08



SPCP・SPCM SERIES APPLICATION EXAMPLE
IP67 POLYCARBONATE BOX

Made from polycarbonate material, the SPCP・SPCM series features not only high durability, 
but also comes with IP67 protection.
Suitable to be used in a wide range of applications, such as FA/control, measurement 
equipment, network communication and so on.

INDUSTRIAL MOTOR JUNCTION BOX AUTOMATIC DOOR OPEN/CLOSE SWITCH

PARTS FEEDER COUNTERDIGITAL DIFFERENTIAL MANOMETER
Product by KRONE CORPORATION (Japan)

FA POWER/SENSOR JUNCTION BOX

SPCM・SPCP-1



FA用 電力/センサー中継ボックス

METEOROLOGICAL MONITOR

Product by SEC (Japan)

REMOTE GREENHOUSE MONITORING SYSTEM

Product by SERAKU (Japan)

Exchange center

※Data processing software available separately.

RS232C
（Modem）

RS232C
（Modem）

（DC12V）

MRD-145

Water
gauge

Control room

Control unit

Control room

Control unit

Sensor unitSensor unit

Public phone line

Public phone line

Dam leakageDam leakage

FactoryFactory

Dam inletDam inlet

Dam outletDam outlet

Sewage plantSewage plant Treated waterTreated water

Treated waterTreated water

Raw waterRaw water

Raw waterRaw water

Power

WATER LEVEL METER
Product by HOKUTO RIKEN (Japan)

FIELD DATA LOGGER
Product by M.C.S (Japan)

SENSOR NETWORK MONITOR
Product by KYOSAITECHNOS (Japan)

DIGITAL ANEMOMETER
Product by North One (Japan)

MONITORING CAMERA
Product by ACE PROMOTION (Japan)

SPCM・SPCP-2



SPCP-1

Components
No. Part name Pcs Material Color / Finish

1 Cover 1

2 Body 1 White gray

3 1 Polyurethane

4 4 Polyamide White gray

5 4 Steel

21

3

4

5

SPCP SERIES IP67 POLYCARBONATE BOX

Technical Data

IP67



SPCP-2

Product no. / Dimensions
Product no. Dimensions (External) Dimensions (Internal)

Weight
(g)

G type T type

W D H w d hCover Body Cover Body

● White gray ○ Transparent ● White gray

 91

 91

 91 161

 91

 66

 66

 91

 91

 91

 91

141

141

141

141

114

141

164

164

Accessories (Optional parts)

W
D

H

w
d

h

Cable gland

 SPCP dimensions



SPCM-1

Components
No. Part name Pcs Material Color / Finish

1 Cover 1 o r o e e r r re

2 Body 1 er ed o y r o e White gray

3 a et 1 Polyurethane Bla

4 Cover re 4 Polyamide White gray

5 a ing re  or mounting late 4 Steel ni hrome lated

⇐

"A" point

ough oly ar onate material or u erior im a t re i tan e

vaila le in 1 di erent i e  ith  di erent over ty e  hite gray and 
tran arent

olded ith metri  no out  or ea y removal or a le entry

Suita le to e u ed a  terminal un tion o  ontrol o  ommuni ation 
unit and o on

ounta le on all  y u ing the over hole  or a tening

SPCM SERIES IP67 POLYCARBONATE BOX with METRIC KNOCK-OUTS

1 34 2

5

Technical Data

Prote tion la  IP67
erating tem erature  C  7 C

Re ommended tor ue  1   m  1   m



SPCM-2

Product no. / Dimensions
Product no. Dimensions (External) Dimensions (Internal)

Weight
(g)

G type T type

W D H w d hCover Body Cover Body

● White gray ○ Transparent ● White gray

SPC 1 6 SPC 1 6  7 1  6  6  91  4 1 9

SPC 1 SPC 1  7 1  7  6  91  6

SPC 1 1 SPC 1 1  7 1 1  6  9  7

SPC 1 1 SPC 1 1  7 1 1  64  9 11 99

SPC 1 1 6 SPC 1 1 6 1 1  6  9  66  4 164

SPC 1 1 6 SPC 1 1 6 1 1  6 11  91  4 4

SPC 1 1 SPC 1 1 1 1  7 11  91  6 9

SPC 1 1 1 SPC 1 1 1 1 1 1 11  9  66

SPC 1 1 1 SPC 1 1 1 1 1 1 114  9 11 4 1

SPC 1 1 6 SPC 1 1 6 1 17  6 11 141  4 94

SPC 1 1 SPC 1 1 1 17  7 11 141  6 7

SPC 1 1 1 SPC 1 1 1 1 17 1 11 14  4

SPC 1 1 1 SPC 1 1 1 1 17 1 11 14 11 19

SPC 1 1 1 SPC 1 1 1 1 17 1 114 1 9 1

SPC 1 1 SPC 1 1 17 17  7 16 141  6 46

SPC 1 1 1 SPC 1 1 1 17 17 1 16 14  69

SPC 1 1 1 SPC 1 1 1 17 17 1 164 14 11 6 9

SPC 1 1 1 SPC 1 1 1 17 17 1 164 1 9 1 7

SPC 1 SPC 1 17  7 16 16  6 6

SPC 1 1 SPC 1 1 17 1 16 1  74

SPC 1 1 SPC 1 1 17 1 164 14 1 946

W
D

H

w
d

h

※ etri  no out  are on all 4 ide

  Drawing  elow are re eren e e am le  only  
D DW PD  drawing  availa le on our we iteSPCM dimensions

Accessories (Optional parts)

utdoor roo  SR erie
See age SPC   SPCP CC

erminal lo  to er R erie
See age DI CC

Pole mounting ra et  elt SS  P B erie
See age SS 1  SS 4

Prote tive vent P  erie
See P  age

DI Rail DR erie
See age DR 1  DR

erminal lo   erminal over S B  S C erie
See age S B  S C 1  S B  S C 4

ounting ra et S 1
See age SPC   SPCP CC 1

ounting late S P erie
See age SPC   SPCP CC 1

Cable gland
See able gland age



-ACC-1

4

7 315

3.3

5.4

15 30

15
.5 8

2

Product no. / Feature
Product no. Material Screw Pcs

S 1 Polycarbonate M4 Tapping 4

SFL-1 PLASTIC MOUNTING BRACKET

SFL-1

Product no. / Feature
Product no. Material Screw Pcs

SMS4 8 (M4 8 Pan head tapping) Steel Trivalent chromate 4

SMS4-8 MOUNTING SCREW

SMP SERIES ALUMINIUM MOUNTING PLATE

SMP

   Mounting crew  or PCB mounting on SPCP  SPCM erie . 
※1 et included with each SPCP  SPCM enclo ure.

SMS4-8 D

W

Product no. / Dimensions
Product no. Suitable box W D Weight (g)

SMP0813 SPCM  SPCP0813  48  98  18

SMP1010 SPCM  SPCP1010  78  78  24

SMP1313 SPCM  SPCP1313  98  98  40.5

SMP1318 SPCM  SPCP1318  98 148  61

SMP1818 SPCM  SPCP1818 148 148  93

SMP1825 SPCM  SPCP1825 148 223 140.5

Cu tomi ation ervice  (clinching tando  hole milling  and other ) available.   
See web ite or more detail .

SMP dimensions   Drawing  below are re erence e ample  only. 
D DW PD  drawing  available on our web ite.

Accessories (Optional parts)



-ACC-2

Accessories (Optional parts)

b

a

W

c

15

30

7.
5

5M4

3

D

Roo  and pacer attachment  are ea ily attached onto the enclo ure 
u ing e i ting cover a tening hole .

Recommended or outdoor environment  or protection again t rain  
etc.

Product no. / Dimensions
Product no. W D a b c Suitable box

SR0808 100  90  50  60  90 SPCM  SPCP 081308

SR0810 100 115  50  60  90 SPCM  SPCP 081310

SR0813 100 140  50  60  90 SPCM  SPCP 081313

SR1308 150  90  90 110 140 SPCM  SPCP 131308   131808

SR1310 150 115  90 110 140 SPCM  SPCP 131310   131810

SR1313 150 140  90 110 140 SPCM  SPCP 131313   131813

SR1315 150 165  90 110 140 SPCM  SPCP 131815

SR1808 200  90 140 160 190 SPCM  SPCP 181808   182508

SR1810 200 115 140 160 190 SPCM  SPCP 181810   182510

SR1813 200 140 140 160 190 SPCM  SPCP 181813

SR1815 200 165 140 160 190 SPCM  SPCP 181815   182515

Components
No. Part name Pcs Material Color / Finish

1 Roo 1 Aluminium A1050P t  3.0mm ight gray  Painted

2 Spacer 1 Aluminium A1050P t  3.0mm ight gray  Painted

- Screw 4 Stainle  teel Un ini hed

- O-ring 4 NBR Blac

SR SERIES

b

c

W

a

10 15

7.
5

5M4
3

Roo

Spacer

1

2



-1

Product no. / Dimensions
Product no. P (Number of poles) A B

STB814- 3P  3  47.4  27.4  75 125

STB814- 4P  4  55.7  35.7 100 100

STB814- 6P  6  72.3  52.3 175 175

STB814- 7P  7  80.6  60.6 100 100

STB814- 8P  8  88.9  68.9  75 125  125 125

STB814- 9P  9  97.2  77.2 125 125  125 175  175 250

STB814-10P 10 105.5  85.5 125 175  175 250

STB815- 2P  2  52.2  26.2  75 125

STB815- 3P  3  63.8  37.8 100 100

STB815- 4P  4  75.4  49.4 125 125

STB815- 6P  6  98.6  72.6 125 125  125 175  175 250

STB815-10P 10 145 119 175 175  175 250

Terminal bloc  or SPCM  SPCP erie .

4.
2

814-4P 6P 7P 8P Mounting hole
5.78.558.3

128.
5

12
.2

5

12
.2

5

B

8.
25

24
.5

7.
75

26

168

6.81.5 2
24.5

26

8.
5

3

A+1
1

+0.8
0.8

2-5.7  4.2

A

B

10.75

1511

4.
5

16
.5

815-2P 3P 4P Mounting hole

31
21

.2

9

11.6

10
.2

5
10

.2
5

33

7.25

16
.5

33

31
10

4.
5

9.62 2.5

+1
1

+0.8
0.8

2-7  4.5

STB-815

STB-814

Speci cation
1. Electrical Rating 300  30A

2. In ulation Re i tance DC500  1000M  

3. With tand oltage AC2500  (Te ted or 1 min.)

4. Operating Temp. Range -25 C  +80 C

5. Storage Temp. Range -25 C  +80 C

Components
No. Part name Pcs Material Color / Finish

1 Ba e 1 PBT (U 94 -0) Blac

2 Terminal 1 Bra Nic el plated

3 Terminal crew 2  P Steel Nic el plated

Mounting crew 4 Steel Trivalent chromate

(FW2)

132

132

STB SERIES TERMINAL BLOCK

Speci cation
1. Electrical Rating 300  30A

 (600  30A JIS IEC compliant)

2. In ulation Re i tance DC500  1000M  

3. With tand oltage  AC2500  (Te ted or 1 min.)

4. Operating Temp. Range  -25 C  +80 C

5. Storage Temp. Range -25 C  +80 C



-2

L

13.6

12

1.
0

31.6

1.
3

4
2.

1

L

3.
1

23.6

Product no. / Dimensions
Product no. P (Number of poles) L Compatible terminal

STC814- 3P  3  22.4 STB814- 3P

STC814- 4P  4  30.7 STB814- 4P

STC814- 6P  6  47.3 STB814- 6P

STC814- 7P  7  55.6 STB814- 7P

STC814- 8P  8  63.9 STB814- 8P

STC814- 9P  9  72.2 STB814- 9P

STC814-10P 10  80.5 STB814-10P

STC815- 2P  2  20.2 STB815- 2P

STC815- 3P  3  31.8 STB815- 3P

STC815- 4P  4  43.4 STB815- 4P

STC815- 6P  6  66.6 STB815- 6P

STC815-10P 10 113.0 STB815-10P

Terminal cover or STB terminal bloc .

U e or protecting terminal .

STC814

STC815

STC SERIES TERMINAL COVER

Material  Color  Polycarbonate t 0.8mm  Tran parent



-3

STB TERMINAL BLOCK MOUNTING POSITION
Terminal  can be in talled in the area with dotted line .

Suitable bo   SPCM SPCP 081305  081306  081308  081310  081313

814 3P 814 8P 815 2P

Suitable bo   SPCM SPCP 101006

814 4P 814 7P 815 3P

Suitable bo   SPCM SPCP 131305  131306  131308  131310  131313

814 8P

Suitable bo   SPCM SPCP 131805  131806  131808  131810  131813  131815

814 9P

814 9P

814 10P

815 4P

815 6P

815 6P

12
5

75

100

10
0

12
5

125

17
5

125

  Drawing  below are re erence e ample  only. 
D DW PD  drawing  available on our web ite.



-4

25
0

175

25
0

175

Suitable bo   SPCM SPCP 181808  181810  181813  181815

814 6P 814 10P

Suitable bo   SPCM SPCP 182508  182510  182515

814 9P 814 10P 814 10P

815 6P 815 10P

815 10P

17
5

175

STB TERMINAL BLOCK MOUNTING POSITION
Terminal  can be in talled in the area with dotted line .

  Drawing  below are re erence e ample  only. 
D DW PD  drawing  available on our web ite.



FDR-1

11

a
L

2-
R0

.5

2-
R1

.5

2-R2

2

1.5

2

3

7.3

2435 27

1
11

a

L

2-
R0

.5

2-
R1

.5

2-R2

2

1.5

2

3

7.3

2435 27

1

■ DIN rail for installation of terminals, relays or switches inside enclosures.
■ Available in different models and lengths to fit a wide variety of mounting 

boss pitch.
■ FDR-1000 is available if customized length is required.

Feature
Material Finish

Extruded Aluminium A6063S-T5 Silver anodized

Product no. / Dimensions
Product no. L a Matching boss pitch

FDR- 50  50 4.2  32 ~  42

57  57 4.2  39 ~  49

66  66 4.2  48 ~  58

77  77 4.2  59 ~  69

80  80 4.2  62 ~  72

87  87 4.2  69 ~  79

92  92 4.2  74 ~  84

100 100 4.2  82 ~  92

106 106 4.2  88 ~  98

110 110 4.2  92 ~ 102

120 120 4.2 102 ~ 112

128 128 4.2 110 ~ 120

137 137 4.2 119 ~ 129

142 142 4.2 124 ~ 134

146 146 4.2 128 ~ 138

150 150 4.2 132 ~ 142

168 168 4.2 150 ~ 160

170 170 4.2 152 ~ 162

186 186 4.2 168 ~ 178

202 202 4.2 184 ~ 194

205 205 4.2 187 ~ 197

223 223 4.2 205 ~ 215

226 226 4.2 208 ~ 218

235 235 4.2 217 ~ 227

242 242 4.2 224 ~ 234

249 249 4.2 231 ~ 241

283 283 4.2 265 ~ 275

300 300 4.2 282 ~ 292

350 350 4.2 332 ~ 342

450 450 4.2 432 ~ 442

550 550 4.2 532 ~ 542

FDR SERIES DIN-RAIL

Product no. L a Matching boss pitch

FDR-B102  102 6.5  86 ~  92

B124  124 6.5 108 ~ 114

B142  142 6.5 126 ~ 132

B160  160 6.5 144 ~ 150

B165  165 6.5 149 ~ 155

B176  176 6.5 160 ~ 166

B183  183 6.5 167 ~ 173

B223  223 6.5 207 ~ 213

B260  260 6.5 244 ~ 250

B283  283 6.5 267 ~ 273

B303  303 6.5 287 ~ 293

B338  338 6.5 322 ~ 328

B360  360 6.5 344 ~ 350

B376  376 6.5 360 ~ 366

B383  383 6.5 367 ~ 373

B463  463 6.5 447 ~ 453

B560  560 6.5 544 ~ 550

B623  623 6.5 607 ~ 613

FDR-1000 1000 － －

■ FDR-1000 does not have mounting holes.

NEW

Accessories (Optional parts)

EN3_SPCM-SP_WEB.indd   11 19/10/18   10:07



FDR-2

SPCM • SPCP series
Product no. Matching DIN-Rail

SPCM
SPCP

081304 FDR -  50/100

081305 50/100

081306 50/100

081308 50/100

081310 50/100

081313 50/100

101004 80

101006 80

131304 100

131305 100

131306 100

131308 100

131310 100

131313 100

131804 100/150

131805 100/150

131806 100/150

131808 100/150

131810 100/150

131813 100/150

131815 100/150

181808 150

181810 150

181813 150

181815 150

182508 150/223

182510 150/223

182515 150/223

BC  series
Product no. Matching DIN-Rail

BCAP
BCPC
BCPK
BCAR
BCPR

091207  FDR - 80

091208  80

101507 110

101508 110

112107 170

112110 170

112607 223

112610 223

131508 120

131808 150

131810 150

151509 120

151512 120

162110 170

162113 170

162610 223

162613 223

172211 170

172711 223

Matching DIN-Rail Chart

BCAS series
Product no. Matching DIN-Rail

BCAS

071005  FDR - 92

080806 66

081104  92

081107  92

081108  92

081110  92

081307 110

081308 110

081807 168

081808 168

082507 235

082508 235

101007 77

101010 77

101807 150

102007 170

102307 202

121207  80

121210  80

141709 146

142309 205

151507 120

151510 120

152004 170

152007 170

152010 170

152013 170

152016 170

152510 226

152513 226

161607 137

Accessories (Optional parts)

DIN-Rail stopper bracket TKR series
See page DIN-ACC-2

DIN-Rail mounting feet CKD series
See page DIN-ACC-2

DIN-Rail mounting base DRA series
See page DIN-ACC-1

DIN-Rail mounting base DRT series
See page DIN-ACC-1

Accessories (Optional parts)

BDN series
Product no. Matching DIN-Rail

BDN

 6-  8- 5  FDR - 50

 7-10- 4  

 9-  9- 6 80

 9-13- 5 120

128

11-16- 6 150

12-22- 8 205

16-26- 9 242

-

 FDR -

10-14- 7



DIN-ACC-2

■ Mounting feet for installation of enclosures, PCB and other parts onto a DIN rail. Can be easily detached.

Installation example

Product no. / Dimensions
Product no. W a b c d Pack of

CKD- 80  77  75  66  56 17 2

CKD-120 117 115 106  96 37 2

CKD-160 157 155 147 136 57 2

■ Stopper bracket for use with 35mm DIN-rail to keep an attachment 
at a fixed location.

■ TKR-TWE1 is used with small DIN rail attachment parts. For larger/
higher attachment parts, TKR-JTXE3 is recommended for providing 
additional support.

TKR-TWE1

Product no. / Feature
Product no. Material Color / Finish Pack of

TKR-TWE1 Steel sheet Trivalent chromate 2

TKR-JTXE3 Steel sheet Trivalent chromate 2

12 2.2 2-Φ3.5

DIN Rail
35mm

Installed on 35mm DIN-Rail Installed on 32mm DIN-Rail

DIN Rail
32mm

9.5
11

3.
6

35 c b a w

d
46

.5

16
18.5

4 1
12

21.5

27.2

18.5

47 6

(2
1.

3)

11

45 9.1

(2
2)

10
.4

■ DXF/DWG/PDF drawings available on our website.

■ DXF/DWG/PDF drawings available on our website.

CKD SERIES DIN-RAIL MOUNTING FEET

TKR SERIES DIN-RAIL TERMINAL BLOCKS END STOPPER

Technical Data

Max load : 3kg

Components
No. Part name Pcs Material Color / Finish

1 Mounting feet 2 Polyamide White gray

2 Screw (special type 4.2 x 9.5) 4 Screw Unichrome plated

1 2

Accessories (Optional parts)

TKR-JTXE3

EN3_SPCM-SP_WEB.indd   42 19/10/18   10:09



TMB-1

Components
No. Part name Pcs Material Color / Finish

1 Top cover 1 ABS UL94V-0 Light gray

2 Body 1 ABS UL94V-0 Light gray

3 Gasket 1 Polyurethane Black

4 Conductive plate 4 ~ 20 Brass Nickel plated

5 Terminal screw 8 ~ 40 Steel (M3.5) Nickel plated

- Terminal mount screw (15PS, 20P, 20PL models only) 2 ~ 4 Steel Trivalent chromate

6 Cover screw 4 Stainless steel • Nylon Unfinished

※Cover screw material : Stainless steel - 4P, 6P, and 10P models • Nylon - 15PS, 20P, and 20PL models.

Knock-out

"A" Point

■ Terminal junction box with built-in terminal block.
■ IP65 protection class.
■ Made of flame-resistant ABS plastic (UL94V-0).
■ TMB-4P • 6P • 10P is molded with Φ21.0mm metric knock-outs for M20 cable glands.
■ To knock out the hole covers, rest a flathead screwdriver at the "A" points, and punch out the knock-outs by 

hammering on the rear end of the screwdriver handle with a hammer.

Applicable crimp terminal
R1.25-3.5

Φ3.7

M
A

X
 6

.8

MIN 5MAX 3.4

Terminal Block Specification
Rated voltage 400V

Rated current 17.5A

Applicable wire 1.5mm2

Standard tightening torque 0.8N • m

TMB SERIES TERMINAL JUNCTION BOX

Accessories (Optional parts)

Shorting bar SBR series
See page SBR-1

Cable gland
See cable gland pages

Mounting bracket CK-34Z
See page BCAS • BCAL-ACC-2

136254

Technical Data

Protection class: IP65
Operating temperature: -10°C ~ +60°C
Recommended torque:
 TMB-4P • 6P • 10P : 0.6N • m
 TMB-15PS • 20P • 20PL : 1N • m

EN3_SPCM-SP_WEB.indd   27 19/10/18   10:08



TMB-2

Product no. / Dimensions
Product no. L W H Number of poles Weight (g)

TMB- 4P  91  55 43  4P 102

TMB- 6P  91  75 43  6P 134

TMB-10P  91 110 43 10P 190

TMB-15PS 185 100 70 15P 412

TMB-20P 160 160 70 10P x 2 560

TMB-20PL 230 100 70 20P 484

TMB-4P

TMB-6P

TMB-10P

1
2

3
4

19

27
.5

27
.5

7

32.5

43

26
.537

4049

64.3
20

81(Mounting hole distance)

4-M3 insert nut

2-Φ5 mounting hole

91

55

45
(M

ou
nti

ng
 ho

le 
dis

tan
ce

)

40

Φ21 knock-out

9.
6

8

91

20
64.1

81(Mounting hole distance)

65
(M

ou
nt

in
g 

ho
le

 d
is

ta
nc

e)

75
43

7

37

26
.5

37
.5

37
.5

69 55
.2 60

19

Φ21 knock-out

32.5

9.
6

8

1
2

3
4

5
6

4-M3 insert nut

2-φ5 mounting hole

1
2

3
4

5
6

7
8

9
10

1
2

3
4

5
6

7
8

9
10

10
0(

M
ou

nt
in

g 
ho

le
 d

is
ta

nc
e)

7

30
50

19 2-Φ21 knock-out

20

64

81(Mounting hole distance)

91

9010
4

11
0 98

26
.53743

32.5

2-Φ5 mounting hole

9.
6

8

※Φ21 knock-out also present on opposite side.

※Φ21 knock-outs also present on opposite side.

※Φ21 knock-out also present on opposite side.

TMB dimensions ■   Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

EN3_SPCM-SP_WEB.indd   28 19/10/18   10:08



TMB-3

TMB-15PS

TMB-20P

TMB-20PL

1413 1576 8 9 104 5 12112 31

185

10
0

10

32

63
.7

146.3

167

175.5

2063
.5

90 82

9.6

8

15 55

70

148.5
4-Φ4.2

Mounting hole

13

3

1211

1 2

20

10

18

8

1715 1614

54 6 7

19

9

87.6

123.5

150

55

12
3.

5

15
0

15 55

70

160

16
0

10
.638

.563
.5

8.6

7

142
14

2

4-Φ4.2
Mounting hole

10
0

230

2063
.5

90
.5

195

220.4

10
.532

63
.4

9.6

8

15 55

70

1132 76 84 5 9 10 19 20181716151413121

212

82

4-Φ4.2
Mounting hole

EN3_SPCM-SP_WEB.indd   29 19/10/18   10:08



■ Integrated junction box consisting of cable glands and a terminal block.
■ Suitable for industrial facilities, power cable joints, relay between motors and/or sensors.
■ IP65 protection class with high oil resistant PBT material.
■ 3, 4, and 6 pole types are available.
■ Φ5.0 and Φ7.4 rubber cable bushes (2 pcs each) are included.

Components
No. Part name Pcs Material Color / Finish

1 Cover 1 PBT UL94V-0 Light gray • Black

2 Base 1 PBT UL94V-0 Light gray • Black

3 Cable cap 2 PBT UL94V-0 Light gray • Black

4 Rubber bush 2 pairs EPDM Black

5 Gasket 1 Polyurethane Black

6 Conductive plate 3~6 Brass Nickel plated

7 Terminal screw 3~6 Steel M3 Nickel plated

8 Cover screw 4 Stainless steel M3 Unfinished

Rated voltage 250V

Rated current 15A

Applicable wire 1.25mm2

Standard tightening torque 0.5N • m

Applicable crimp terminal
R1.25-3

M
A

X
 5

.7

MAX 2.85 MIN 4.5

Φ3.2

TMC SERIES TERMINAL JUNCTION BOX

Technical Data

Protection class: IP65
Operating temperature: -20°C ~ +75°C 

Accessories (Optional parts)

Shorting Bar SBR series
See page SBR-1

Rubber Bush RB series
See page RB SZ-1

1

2

8

5

7
6

3

4

TMC-1



■ DXF/DWG/PDF drawings available on our website.

Product no. / Dimensions
Product no.

L W H Number of poles Weight (g)
 Light gray

TMC-3PG 65 33 24 3P 52

TMC-4PG 60 40 24 4P 58

TMC-6PG 70 50 24 6P 73

11

16
.5

12

6510 10
24

12

1933

7

6
1

57
Mounting hole distance

M
ou

nt
in

g 
ho

le
 

di
st

an
ce

25

2-Φ4.2
Mounting hole

12

11

24

20

60 1010

40 19

12

7

1
6

32
M

ou
nt

in
g 

ho
le

 d
ist

an
ce

2-Φ4.5
Mounting hole

Mounting hole distance

52

11
7010 10

24
25

12

50

12

19

7

1
6

2-Φ4.5
Mounting hole

42

M
ou

nt
in

g 
ho

le
 d

is
ta

nc
e

62

Mounting hole distance

TMC-3P

TMC-4P

TMC-6P

Inner diameter of rubber bush Cable range

Φ5.0 Φ4 ~ Φ5

Φ7.4 Φ6 ~ Φ7

Inner diameter of rubber bush Cable range

Φ5.0 Φ4 ~ Φ5

Φ7.4 Φ6 ~ Φ7

Inner diameter of rubber bush Cable range

Φ5.0 Φ4 ~ Φ5

Φ7.4 Φ6 ~ Φ7

TMC dimensions

TMC-2



SBR-1

3.1

5.8

(1
3.

5)

17
.7

7
PVC coated

12.8

3.1

5.8

(1
3.

5)

17
.7

7

68.8

PVC coated PVC coated

(1
6.

6)

20
.6

8.5

3.7

6.5

15

PVC coated

(1
6.

6)

20
.6

8.5

3.7

6.5

83

12
.516
.5

4.5

7

9.5

188.9

Non PVC coated

(1
2.

5)

17
.2

4.5

7

9.5

188.9

PVC coated

Suitable Box Chart
Product no. Number of poles Pole distance Suitable box

Product no. / Feature
Product no. Number of poles Material Finish PVC coating Pack of

 1

    1

 1 1   1

   1

   1

SBR SERIES SHORTING BAR

Accessories (Optional parts)



-1

R        

      

5 7.
5

1
1.
5

φ11

φ9

φ13
Product no. / Feature

Product no. Material Color Cable range Pack of

R R   

RB-9 RUBBER BUSH

H

b

W ac
t

Sealing 
material

Washer

A

A

A A Optional parts

SZ waterproof washer
Screw

Waterproof box

Waterproof washer for screwing onto waterproof boxes

R sealing material has s perior oil resistance  mo els onl  

Silicone sealing material has wi er operating temperat re with s perior 
temperat re an  water resistance S mo els onl

Shape of the sealing material 
ar  b  pro ct

Product no. / Dimensions
Product no. W H a b c t Washer material Sealing material Color Screw size Pack of

SZ   7 7   1 S S R lac  1

SZ  S  7 7   1 S S Silicone rown  1

SZ    1  1 S S R lac M 4 1

SZ  4S   4 1  4 1 S S 4 Silicone rown M 4 1

SZ    7  1 S S 4 R lac M 1

SZ  S   7  1 S S 4 Silicone rown M 1

SZ  11 4   1 S S 4 R lac M 6 1

SZ  6S 11 4  6  6 1 S S 4 Silicone rown M 6 1

SZ  1   1 S S 4 R lac M 1

SZ  S 1   1 S S 4 Silicone rown M 1

SZ 1 1 1 4 1 1 S S 4 R lac M1 1

SZ 1 S 1 1 4 1 1 S S 4 Silicone rown M1 1

SZ 1 4 6 1 14 4 1 1 S S 4 R lac M1 1

SZ 1 S 4 6 1 14 4 1 1 S S 4 Silicone rown M1 1

SZ 16 6 1 4 16 1 S S 4 R lac M16 1

SZ 16S 6 1 4 16 1 S S 4 Silicone rown M16 1

SZ SERIES WATERPROOF WASHER

Accessories (Optional parts)

Technical Data

Water press re resistance
 M   M1   g cm  min
 M1   M16  1 g cm  min



RMW SERIES WEATHERPROOF CABLE GLAND

■ Weatherproof cable gland equipped with high ultraviolet and degradation
resistant silicone sealing insert and O-ring.

■

Components ■ PA = Polyamide

No. Part name Material

1 Cap PA66 UL94V-2

2 Sealing insert Silicone

3 Connector PA66 UL94V-2

4 O-ring Silicone

5 Nut PA66 UL94V-2

SW

A

HL

G ■ DXF/DWG/PDF drawings available on our website.
■ Lock nut is not included for RMW10S-6.

Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A Pack of

 Black  Light gray Thread size Mounting hole Min Max

RMW8L-2.5B RMW8L-2.5S M8×1.25 Φ8.2  1  2.5 13 19.5 11.8 13.5  1

RMW8L-4B RMW8L-4S M8×1.25 Φ8.2  2.5  4 13 19.5 11.8 13.5  1

RMW10S-6B RMW10S-6S M10×1.5 ―  3  6  8 20.5 13 14.4  1

RMW10L-6B RMW10L-6S M10×1.5 Φ10.2  3  6 13 20.5 13 14.4  1

RMW12S-7B RMW12S-7S M12×1.5 Φ12.2  3.5  7  9 20.5 16 17.6  1

RMW12L-7B RMW12L-7S M12×1.5 Φ12.2  3.5  7 14.5 20.5 16 17.7  1

RMW16S-8B RMW16S-8S M16×1.5 Φ16.2  4  8  9 23.5 19 21  1

RMW16L-8B RMW16L-8S M16×1.5 Φ16.2  4  8 15 24 19 21   1

RMW20S-12B RMW20S-12S M20×1.5 Φ20.2  6 12 10 29 24 26.2   1

RMW20L-12B RMW20L-12S M20×1.5 Φ20.2  6 12 15 28.5 24 26.2  1

RMW25L-17B RMW25L-17S M25×1.5 Φ25.2 11 17 15 35 33 36.2  1

RMW32L-21B RMW32L-21S M32×1.5 Φ32.3 13 21 15 38 36 39.5  1

RMW40L-27B RMW40L-27S M40×1.5 Φ40.3 18 27 18 43.5 45.7 50.5  1

RMW50L-38B RMW50L-38S M50×1.5 Φ50.4 27 38 20 50.5 60 66.5  1

RMW8L-2.5B-P RMW8L-2.5S-P M8×1.25 Φ 8.2  1  2.5 13 19.5 11.8 13.5 100

RMW8L-4B-P RMW8L-4S-P M8×1.25 Φ 8.2  2.5  4 13 19.5 11.8 13.5 100

RMW10L-6B-P RMW10L-6S-P M10×1.5 Φ10.2  3  6 13 20.5 13 14.4 100

RMW12S-7B-P RMW12S-7S-P M12×1.5 Φ12.2  3.5  7  9 20.5 16 17.6 100

RMW12L-7B-P RMW12L-7S-P M12×1.5 Φ12.2  3.5  7 14.5 20.5 16 17.7 100

RMW16S-8B-P RMW16S-8S-P M16×1.5 Φ16.2  4  8  9 23.5 19 21 100

RMW16L-8B-P RMW16L-8S-P M16×1.5 Φ16.2  4  8 15 24 19 21 100

RMW20S-12B-P RMW20S-12S-P M20×1.5 Φ20.2  6 12 10 29 24 26.2 100

RMW20L-12B-P RMW20L-12S-P M20×1.5 Φ20.2  6 12 15 28.5 24 26.2 100

RMW25L-17B-P RMW25L-17S-P M25×1.5 Φ25.2 11 17 15 35 33 36.2 100

Technical Data

Protection class: IP67
Operating temperature: -20°C ~ +80°C

1 2 3

4 5

RMW dimensions

RMW-1



Object: Cut into a piece of the silicone sealing insert from RMW series and attach it onto an aluminium plate.
For comparison, NBR sealing insert from our RM and EPDM sealing insert from another manufacturer is also attached for comparison purposes.

RMW series silicone sealing insert weatherproof test report

Before After
Testing conditions
Equipment : 7.5kW Super Xenon Weather Meter SX75 (Suga Test Instruments Co., Ltd.- http://www.sugatest.co.jp/english/)
Conditions : JIS B7754 : 1991

Testing with an authorized Xenon arc lamp weathering test equipment under the conditions denoted below.
Irradiance : 180W/m2 at 300-400nm
Black Panel Temperature : 63±3°C  Humidity Range : 50±10%
Cycle Conditions : 120 minutes cycle (18 minutes irradiation + water spray - 102 minutes irradiation)

Time period : 2,000 hours (equivalent to a period of 4 years under natural conditions)
Total radiant exposure : 1296MJ/m2

Test result (visual / touch inspection)
Silicone sealing insert material : No cracks, no gloss transition, no powder - no appearance change at all.  Flexibility remains unchanged.

Before After

NBR material from our RM series : Lost glossiness on the surface and material is stiffened.

Before After

EPDM material from weatherproof cable gland of another manufacturer : Cracked, color drastically faded and powder appeared on the surface.

Before After

RMW-2



■ Low cost cable glands made from polyamide material.
■ Wide selection, for M8 ~ M63, suitable for Φ1mm ~ Φ44 mm cable.
■ High oil resistant NBR rubber sealing and O-ring.
■ IP67 protection class.

Components ■ PA = Polyamide

No. Part name Material

1 Cap PA66 UL94V-2

2 Sealing insert NBR

3 Connector PA66 UL94V-2

4 O-ring NBR

5 Lock nut PA66 UL94V-2

SW

A

HL

G

■ DXF/DWG/PDF drawings available on our website.
■ Lock nut is not included for RM8S-2.5, 8S-4, and 10S-6 models.

Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A Pack of

 Black  Light gray Thread size Mounting hole Min Max

RM8S-2.5B RM8S-2.5S M8×1.25 ―  1  2.5  7.5 19.5 11.8 13.5 1

RM8L-2.5B RM8L-2.5S M8×1.25 Φ8.2  1  2.5 13 19.5 11.8 13.5 1

RM8S-4B RM8S-4S M8×1.25 ―  2.5  4  7.5 19.5 11.8 13.5 1

RM8L-4B RM8L-4S M8×1.25 Φ8.2 2.5 4 13 19.5 11.8 13.5 1

RM10S-6B RM10S-6S M10×1.5 ―  3  6  8 20.5 13 14.4 1

RM10L-6B RM10L-6S M10×1.5 Φ10.2  3  6 13 20.5 13 14.4 1

RM12S-7B RM12S-7S M12×1.5 Φ12.2  3.5  7  9 20.5 16 17.6 1

RM12L-7B RM12L-7S M12×1.5 Φ12.2  3.5  7 14.5 20.5 16 17.7 1

RM16S-8B RM16S-8S M16×1.5 Φ16.2  4  8  9 23.5 19 21 1

RM16L-8B RM16L-8S M16×1.5 Φ16.2  4  8 15 24 19 21 1

RM20S-12B RM20S-12S M20×1.5 Φ20.2  6 12 10 29 24 26.2 1

RM20L-12B RM20L-12S M20×1.5 Φ20.2  6 12 15 28.5 24 26.2 1

RM25L-17B RM25L-17S M25×1.5 Φ25.2 11 17 15 35 33 36.2 1

RM32L-21B RM32L-21S M32×1.5 Φ32.3 13 21 15 38 36 39.5 1

RM40L-27B RM40L-27S M40×1.5 Φ40.3 18 27 18 43.5 45.7 50.5 1

RM50L-38B RM50L-38S M50×1.5 Φ50.4 27 38 20 50.5 60 66.5 1

RM63L-44B RM63L-44S M63×1.5 Φ63.4 37 44 20 53 68 75.5 1

RM8L-2.5B-P RM8L-2.5S-P M8×1.25 Φ8.2  1  2.5 13 19.5 11.8 13.5 100

RM8L-4B-P RM8L-4S-P M8×1.25 Φ8.2  2.5  4 13 19.5 11.8 13.5 100

RM10L-6B-P RM10L-6S-P M10×1.5 Φ10.2  3  6 13 20.5 13 14.4 100

RM12S-7B-P RM12S-7S-P M12×1.5 Φ12.2  3.5  7  9 20.5 16 17.6 100

RM12L-7B-P RM12L-7S-P M12×1.5 Φ12.2  3.5  7 14.5 20.5 16 17.7 100

RM16S-8B-P RM16S-8S-P M16×1.5 Φ16.2  4  8  9 23.5 19 21 100

RM16L-8B-P RM16L-8S-P M16×1.5 Φ16.2  4  8 15 24 19 21 100

RM20S-12B-P RM20S-12S-P M20×1.5 Φ20.2  6 12 10 29 24 26.2 100

RM20L-12B-P RM20L-12S-P M20×1.5 Φ20.2  6 12 15 28.5 24 26.2 100

RM25L-17B-P RM25L-17S-P M25×1.5 Φ25.2 11 17 15 35 33 36.2 100

1 2 3

4 5

RM SERIES POLYAMIDE CABLE GLAND

RM dimensions
Technical Data

Protection class: IP67
Operating temperature: -20°C ~ +80°C 

RM-1



■ High water protection IP68 (1bar / 30min) polyamide cable gland.
■Wide selection, for M8 ~ M50, suitable for Φ2.5mm ~ Φ42 mm cable. 
■

connector.
■ Safer halogen free, eco-friedly product.

AG Series
Thicker sealing insert evenly hold a cable by having a larger holding 
area.
Remains durable even after repeated tightening / loosening.

Lamellar insert type
If over-tightened, it can cause the rubber bush or cable to deform, which 
can allow water to seep in.

Components ■ PA6GF = Polyamide6 Glass Fiber Filled

No. Part name Material

1 Cap  PA6GF

2 Sealing insert  TPE

3 Connector  PA6GF

4 Lock nut  PA6

■  Lock nut is not included for M8 and M10 sizes.
Please drill a proper thread hole into the enclosure for installation.

■ Proper tightening torque varies by each cable diameter.
Tighten the cap until top of the sealing insert forms a small 
bead between the cap and the cable.

1 2 3 4

AG SERIES HIGH WATER PROTECTION CABLE GLAND

Technical Data

Protection class: IP68 1bar / 30min
Operating temperature: -20°C ~ +100°C 
Compliant with EN50262 Ver. A

AG-1



■ DXF/DWG/PDF drawings available on our website.

Waterproof rib

Sealing washer

SW

A

HL

Gd

m

■ No optional sealing washer is required when installing on an even surface 
because of the built-in waterproof rib.

■ An optional sealing washer is required when installing on an uneven surface. 
(See page AGP-1 for more information on the optional sealing washer)

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A d m Pack of

 Black  Light gray Thread size Mounting hole Min Max

AG8-3.5B AG8-3.5S M8×1.0 ―  2.5  3.5 10 17 12 13.2 ― ―  1

AG8-5B AG8-5S M8×1.0 ―  3.5  4.7 10 17 12 13.2 ― ―  1

AG10-6B AG10-6S M10×1.0 ―  4  6 10 19 15 16.5 ― ―  1

AG12-5B AG12-5S M12×1.5 Φ12.2 3.5 4.7 12 23.5 17 18.7 18.8 5  1

AG12-6.5B AG12-6.5S M12×1.5 Φ12.2  5  6.5 12 23 17 18.7 18.8 5  1

AG12-8B AG12-8S M12×1.5 Φ12.2  6.5  7.8 12 23 17 18.7 18.8 5  1

AG16-10B AG16-10S M16×1.5 Φ16.2  8 10 12 26 21 23.1 24.3 5  1

AG20-15B AG20-15S M20×1.5 Φ20.2 11 15 13 27 27 29.7 29 6  1

AG25-16B AG25-16S M25×1.5 Φ25.2 12.5 16 13 34 34 37.4 36 6.7  1

AG25-20B AG25-20S M25×1.5 Φ25.2 16 20 13 34 34 37.4 36 6.7  1

AG32-25.5B AG32-25.5S M32×1.5 Φ32.3 21 25.5 15 36 41 45.6 46 8  1

AG40-28.5B AG40-28.5S M40×1.5 Φ40.3 24 28.5 15 41 50 55.4 53.5 9  1

AG40-33B AG40-33S M40×1.5 Φ40.3 28.5 33 15 41 50 55.4 53.5 9  1

AG50-37B AG50-37S M50×1.5 Φ50.4 33 37 16 45 60 65.5 66 9.6  1

AG50-42B AG50-42S M50×1.5 Φ50.4 37 42 16 45 60 65.5 66 9.6  1

■ Lock nut is not included for M8 and M10 sizes.
Please drill a proper thread hole into the enclosure for installation.

AG dimensions

Sealing washer

AG-2



AGP-1

MD2

D1

 Se n  er or AG er e
 M e ro  o  re t nt R ter
 e n t e c e o  n t t on on  ro  or ne en r ce  
 Se ect e n 7 e  ro  M12 to M
 Se n  er  not nece r  or n t t on on t r ce

AGP Dimensions

Product no. / Dimensions
Product no. D1 D2 M Suitable cable gland Pack of

AGP 12 2 12 1 6 1

AGP 16 2 16 2 AG16 1

AGP 2 29 2 2 AG2 1

AGP 2 7 2 2 AG2 1

AGP 2 44 2 2 2 AG 2

AGP 4 2 4 2 2 AG4  

AGP 64 1 AG  

AGP SERIES

M ter   R

AG12



HL

G

SW

A

RSP dimensions

■ DXF/DWG/PDF drawings available on our website.

Technical Data

Protection class : IP67
Temperature range -20°C ~ +80°C

Components ■ PA = Polyamide

No. lairetaMeman traP

1 Strain relief cap PA66 (UL94V-2)

- Sealing insert NBR

2 )2-V49LU( 66AProtcennoC

3 RBNgnir-O

4 )2-V49LU( 66APtun -kcoL

Product no. / Dimensions
egnar elbaCG.on tcudorP

L H
Max SW A Pack of

 Black  Light gray Thread size Mounting hole Min Max

RSP12-6B RSP12-6S M12×1.5 φ12.2  3.5  6  9  62 16 17 1

RSP16-8B RSP16-8S M16×1.5 φ16.2  4  8  9  69 19.5 21 1

RSP20-11B RSP20-11S M20×1.5 φ20.2  6 11 10  82 24 26 1

RSP25-16B RSP25-16S M25×1.5 φ25.2 11 16 12 102 33 36 1

3 2 14

RSP SERIES STRAIN RELIEF CABLE GLAND

RSP-1



SP-1

SP dimensions

D

Φ
D

1

H

■ Sealing plug for cable glands when not in use.
■ Maintain a waterproof seal when plugged into the sealing insert

on cable glands.

Product no. / Dimensions
Product no. D D1 H Suitable cable glands Pack of

SP-12 10.2  6 15.5 RMW12, RM12, RMW16, RM16, RPG7, RPG9 10

SP-16 15.6  9.5 15.5 RMW20, RM20, RPG11, RPG13.5 10

SP-20 19.6 13.5 16.5 RPG16 10

SP-25 24.4 17.5 17 RMW25, RM25, RMW32, RM32, RPG21  5

SP-40 32.5 24.5 17.5 RMW40, RM40, RPG29  5

SP-50 47.2 38.9 17.6 RMW50, RM50  5

■ Material : Nylon

Accessories (Optional parts)

SP SERIES SEALING PLUG

EN3_SPCM-SP_WEB.indd   44 19/10/18   10:09



■ Small and screw-in protective vent suitable for compact, and hand-held type devices.
■ IP68 protection class (water depth 2 meters / 60 mins) and -40°C ~ +150°C operating temperature range allows it to be used in various 

environments.
■ Suitable for enclosures with capacities of 2.0 litres or under.
■ For outdoor use, installation on the side of the enclosure unit is recommended.

Application example

Technical Data
Airflow 300ml / min (dp = 7 kPa)

Recommended Torque 0.2 ~ 0.4 N • m

Certifications

IEC60529 (Protection class test) : IP66 • IP67 • IP68
IEC60068-2-1, 2, 14 (Heat resistance test) : -40°C ~ +150°C
IEC60068-2-78 (Humidity test) : 85°C • 85% humidity • 1000 hours
IEC60068-2-64 (Vibration test)
UL94V-0 (Flame-resistant) • UL746C f1

Product no. / Dimensions
Product no. Material G

 Black  Housing  Filter  O-ring Thread size Mount hole

PMF-6B PA6 (Body) • PA66 (Cap) PTFE Silicone M6 x 0.75 ―

PMF-6B SMALL PROTECTIVE VENT

Φ
11

.2

Φ
5.

25

M
6 

× 
0.

75

Φ
11

.2

M
6 

× 
0.

75

11.5

7

1

2

3

Housing

Filter

O-ring

Outside Inside

Material thickness

Please make a thread-hole 
for installation.

Accessories (Optional Parts)

PMF-6B dimensions Installation drawingsHole milling drawings

PMF-1



■       ropav retaw gniwolla elihw selucitrap rehto dna tsud ,retaw sa hcus ,stnanimatnoc fo yteirav a fo noissergni eht stneverp stnev evitcetorP
molecules to diffuse through the microporous membrane.

■ to and out of sealed enclosures.
■       hsrah ni desu eb nac ti ,egnar erutarepmet gnitarepo C°521+ ~ C°04- dna )snim 06 / sretem 2 htped retaw( ssalc noitcetorp 86PI na htiW

environmental conditions.
■ PMF-6B works up to 2 liters capacity enclosures.  Whereas, PMF-12 models work for up to 5 liters and PMF-12HS models work for up to 50 liters.
■

■ Recommended to use for industrial, electric, electronics purpose only.

Application example

Technical Data
Product no. PMF-6B PMF-12 PMF-12HA

Airflow 300ml / min (dp = 7 kPa) 450ml / min (dp = 7 kPa) 4000ml / min (dp = 7 kPa)

Recommended Torque 0.2 ~ 0.4 N • m 0.6 ~ 0.8 N • m 0.6 ~ 0.8 N • m

Certifications

IEC60529 (Protection class test): IP66 • IP67 • IP68 • IP69K (Not for PMF-6B)
IEC60068-2-1, 2, 14 (Heat resistance test): - 40°C ~ +125°C (~+150°C for PMF-6B)
IEC60068-2-78 (Humidity test): 85°C • 85% humidity • 1000 hours
IEC60068-2-64 (Vibration test)  (PMF-6B only)
UL94V-0 (Flame-resistant) • UL746C f1

PMF SERIES PROTECTIVE VENT

Product no. / Dimensions
Product no. Material G

Nut SW
 Light gray  Black 1 Housing 2 Filter 3 O-ring 4 Lock nut Thread size Mount hole

─ PMF-6B
PA6 (Body)

PTFE Silicone n/a M6 x 0.75 ─ ─
PA66 (Cap)

 PMF-12S PMF-12B PA6 PTFE Silicone PA6 (UL94V-2) M12 x 1.5 Φ12.2 17

 PMF-12HAS PMF-12HAB PA6 PTFE Silicone PA6 (UL94V-2) M12 x 1.5 Φ12.2 17

NEW

Outside Inside

Material thickness

■ If used with a lock nut,
material thickness should not exceed 4.0mm,
and Φ12.2mm through-hole is sufficient.

Please make a thread-hole
for installation if material
thickness is more than 4.0mm.

φ1
7(
Φ

11
.2

)

18
.8G

15.5(11.5)
5

10(7)

1 2 3 4

(  ) values are for PMF-6B.
Lock nut is not available for PMF-6B.

Φ
14

.3
(Φ

11
.2

)

Φ
10

.5
 (Φ

5.
25

)

M
12

P
1.

5 
(M

6 
P

0.
75

)

60°(45°)

■ While Φ12.2mm through-hole is sufficient for
installation, 60° angle tapered hole is
recommended to prevent deformation of the
O-ring.

PMF dimensions Hole milling drawings Installation drawings
■ Drawings below are reference examples only.
   DXF/DWG/PDF drawings available on our website.

Accessories (Optional Parts)

PMF-3



■ ronment.
■ to and out of sealed enclosures.
■  enclosure types.
■ IP68 protection class rated with an operating temperature range of -40°C ~ +125°C allows it to be used in harsh environments.
■ Compliant with Solar industry testing IEC62108 standards.
■ For superior performance, installation on the side of the enclosure is recommended.

Application example

Product no. / Dimensions

Product no.
Material G Nut

SW Housing  Filter  O-ring  Lock nut Thread size Mount hole

PMF-32S PC PTFE Silicone PA6 M32×1.5 Φ33 41.5

Technical Data
Airflow 16 ℓ / min (dp = 12 mbar)

Recommended torque 5 N • m

Certifications
(without nut)

IEC529, 2nd (Protection class test): IP66 • IP67 • IP68 • IP69K
IEC60068-2-1, 2, 14 (Heat resistance test): - 40°C ~ +125°C
IEC60068-2-78 (Humidity test): 85°C • 85% humidity • 1000 hours
IEC62108.10.8 • 9 (Solar industry test): Freezing - high temperature test • Hail impact test
UL94V-0 (Flame-resistant) • UL746C

PMF-32 Dimensions

9.7

8

75 46G

22.7

 gnir-O

Housing1

Filter
2

3

Lock nut4

■ If used with a lock nut, material thickness 
should not exceed 5.0mm.

Installation drawingsHole milling drawings

Outside

material thickness

Inside

9.7

8

75 46 Φ
33

Outside

material thickness

Inside

PMF-32 SERIES LARGE PROTECTIVE VENT

Accessories (Optional parts)

PMF-



V・VF-1

25

28 18
.5

2

1.5

912 2.8

26

21.5 1.5

28

50

21
1068

28 3- 4.2
29

Mounting surface

O-ring O-ring, M4 tapping screw

36

Nut

Product no.
Product no. Material / Color

Product no. / Dimensions
Product no. Material Color Installation hole W H D a b c e

W
H

D

3

11

O-ring Nut

a

b c

8

4-e

Mounting surface

V SERIES VENTILATION LOUVER

VF SERIES VENTILATION PARTS

2

3

19

Technical Data

Accessories (Optional parts)



SSK-1

16
.2

SSK-P100  120

20

1.
2

3

28

5.
54-R2

2-c hole

W
a
b

SSK-280 ~ 350

2-hole

9.
5

22

19

10
31

.5

2
2.

5

130

W
a
b

60

R
30

SSK-400

2-hole

2.
5

2.
5

200

60

374

17
.5 39

.5

354.5
305.5

R
30

2-M6

35

15
32

SSK-160 ~ 250

2-hole

20

W

2.
5

29
.5

a
b

60

R
30

16
.2

SSK-P50  60  75  80

20

W
a
b

4-R1

2-c hole

1.
2

3

28

5.
5

2-R2.754-R2

484

SSK-530

7

130
200 17

.5
39

.5

35

15

32

2-M6

2.
5

2.
5

462
380

60

R
30

4-7×9 hole

Stainless steel pole mounting brac et or SPCM  SPCP and BCAL  BCAS series.

Easy pole mount with the use o  SSK-B mounting screw and PKB mounting belt.

D DW PD  drawings available on our website.

SSK-P models includes plastic mounting brac ets.

SSK dimensions

SSK SERIES POLE MOUNTING BRACKET

2 1 2 1

1 1

1

1

PKB series

Accessories (Optional parts)



SSK-2

Components
No. Part name Pcs Material Color / Finish

1 Brac et 2 Stainless steel SUS304 Barrel inish

2 Plastic brac et (SSK-P models only) 2 ASA UL94HB White gray

Screws included with SSK brac ets are or BCAP  BCAR  BCPK  BCPR series use only. or other series  please utili e SSK-B screw set.

Mounting screw set or use with SSK pole mounting brac et.

See chart on page SSK-3 or appropriate brac et screw bo  combination.

Material  inish  Stainless steel  Un nished.

SSK-B SERIES MOUNTING SCREW SET for SSK

Installation E ample

BCAS050604, 050605 Pan head screw into insert nut

SSK-B5-10 Use screws included with SSK-P

M4 / M5 Pan head with nut fastening

SSK-B4-15N SSK-B4-25N 

�������

Product no. / Dimensions
Product no. W a b c Suitable mounting belt Pack of

SSK-P50  50  44.5  37.5 5.5× 9 PKB-10PM, 10P  PKB-10S 2

SSK-P60  60  54.5  47.5 5.5× 9 PKB-10PM, 10P  PKB-10S 2

SSK-P75  75  69.5  55.5 5.5×12.5 PKB-10PM, 10P  PKB-10S 2

SSK-P80  80  74.5  64.5 5.5×10.5 PKB-10PM, 10P  PKB-10S 2

SSK-P100 100  88.1  76.5 5.5×11.3 PKB-10PM, 10P  PKB-10S 2

SSK-P120 120 106.5  88.5 5.5×14.5 PKB-10PM, 10P  PKB-10S 2

SSK-160 142 129.5 106.5 PKB-10PM, 10P  PKB-10S 2

SSK-170 152 142.3 101 PKB-10PM, 10P  PKB-10S 2

SSK-200 174 161.5 112.5 PKB-10PM, 10P  PKB-10S 2

SSK-210 192 180.5 131.5 PKB-10PM, 10P  PKB-10S 2

SSK-250 230 215.5 166.5 PKB-10PM, 10P  PKB-10S 2

SSK-280 260 244.5 195.5 PKB-10PM, 10P  PKB-10S 2

SSK-300 280 264.5 215.5 PKB-10PM, 10P  PKB-10S 2

SSK-350 324 302.5 253.5 PKB-10PM, 10P  PKB-10S 2

SSK-400 374 354.5 305.5 PKB-20S 2

SSK-530 484 462 380 7×9 PKB-20S 2

Product no. / Dimensions
Product no. Included screws Suitable box Pcs

SSK-B4-15N M4-15 Pan head with nut BCAS060905 ~ 212310 4

SSK-B4-25N M4-25 Pan head with nut SPCP  SPCM series 4

SSK-B5-10 M5-10 Pan head BCAL series 4

Accessories (Optional parts)



SSK-3

POLE MOUNTING BRACKET / SCREW SET MATCHING CHART

Box Product no.
SSK Product no.

Screw set Product no.
Vertical mount Horizontal mount

SPCP
SPCM

081304, 081305
081306, 081308
081310, 081313

SSK-P75 SSK-160 SSK-B4-25N

101004, 101006 SSK-P100 SSK-P100 SSK-B4-25N
131304, 131305
131306, 131308
131310, 131313

SSK-160 SSK-160 SSK-B4-25N

131804, 131805
131806, 131808
131810, 131813, 131815

SSK-160 SSK-200 SSK-B4-25N

181808, 181810
181813, 181815 SSK-200 SSK-200 SSK-B4-25N

182508, 182510, 182515 SSK-200 SSK-280 SSK-B4-25N

BCAS series

Box Product no.
SSK Product no.

Screw set Product no.
Vertical mount Horizontal mount

BCAS

050604, 050605 SSK-P50 SSK-P60 Use screws included
with SSK brac et

060905 SSK-P60 SSK-P100 SSK-B4-15N

071005 ※ SSK-P75 SSK-P100 SSK-B4-15N

080806 SSK-P75 SSK-P75 SSK-B4-15N
081104, 081107
081108, 081110 SSK-P75 SSK-P120 SSK-B4-15N

081307, 081308 SSK-P75 SSK-160 SSK-B4-15N

081807, 081808 SSK-P75 SSK-210 SSK-B4-15N

082507, 082508 SSK-P75 SSK-280 SSK-B4-15N

101007, 101010 SSK-P100 SSK-P100 SSK-B4-15N

101807 SSK-P100 SSK-210 SSK-B4-15N

102007 SSK-P100 SSK-250 SSK-B4-15N

102307 SSK-P100 SSK-250 SSK-B4-15N

121207, 121210 SSK-P120 SSK-200 SSK-B4-15N

141709 SSK-160 SSK-200 SSK-B4-15N

142309 SSK-160 SSK-250 SSK-B4-15N

151507, 151510 SSK-170 SSK-170 SSK-B4-15N
152004, 152007
152020, 152013, 152016 SSK-170 SSK-250 SSK-B4-15N

152510, 152513 SSK-170 SSK-280 SSK-B4-15N

161607 SSK-170 SSK-170 SSK-B4-15N
202010, 202013
202016, 202019 SSK-250 SSK-250 SSK-B4-15N

212310 SSK-250 SSK-250 SSK-B4-15N

※Use screws included with SSK brac et for vertical mount

BCAL series

Box Product no.
SSK Product no.

Screw set Product no.
Vertical mount Horizontal mount

BCAL

191913 ※ SSK-P120 SSK-200 SSK-B5-10

192813, 192818 SSK-200 SSK-250 SSK-B5-10

193813, 193818 SSK-200 SSK-350 SSK-B5-10

282813 SSK-250 SSK-280 SSK-B5-10

283413 SSK-280 SSK-280 SSK-B5-10

283813, 283818 SSK-280 SSK-350 SSK-B5-10

285613 SSK-280 SSK-530 SSK-B5-10

385618 SSK-400 SSK-530 SSK-B5-10

※Use screws included with SSK brac et for vertical mount

Select SSK bracket depending on mounting type (Vertical or Horizontal).

Vertical mount
(Longer vertical side)

Horizontal mount
(Longer hori ontal side)

Longer side

Pole Pole

Longer side

SR series ( or SPCM  SPCP - see page SPCP  SPCM-ACC-2)

Installation using SSK-B4-25SN screw set

Upper part

Lower part

Roof

Accessories (Optional parts)



SSK-4

PKB 10PM, 10P PKB 10S, 20S

PKB SERIES POLE MOUNTING BELT

New shorter belt type PKB-10PM is available for 25 to 60mm poles. 
Other belt types are for 60 to 400mm poles.

Designed for one time use only (not reusable).

Strong stainless steel clamping type and easy installation plastic type are available.

Use SSK  WPMB mounting brac et for installation onto a pole.

H

D

Stopper

W

Belt length

b
a

Components
Part name Pcs Material Color / Finish

Stopper 2 POM  Stainless steel SUS304 Blac   Barrel finish

Belt 2 PET  Stainless steel SUS430 ray  Bright Annealed finish

  Drawings below are reference e amples only. 
D /DW /PD  drawings available on our website.

WPMB-M4-3 SERIES POLE MOUNTING BRACKET

Pole mount brac et made from weather resistant ASA material.

Suitable for both for vertical and hori ontal mounting.

Hole milling is re uired for brac et installation.

IP 7 protection can be maintained through the use of sealing washers.

Pole mount is possible with the use of PKB series mounting belt.

Components
No. Part name Pcs Material Color / Finish

1 Brac et 1 ASA UL94HB White gray  Dar  gray

2 Sealing washer 2 NBR, SPCC Blac

3 Screw (M4-10 Pan head) 2 Stainless steel Unfinished

4 He agonal nut (M4  3 types) 2 Stainless steel Unfinished

Product no. / Dimensions
Product no. Material 

thickness
Tightening 

torque
Tensile 

strength
Weight 

(g) White gray  Dark gray

WPMB-M4-3 WPMB-M4-3D Up to t  4.0mm 0.45N  m 5 g 26.5

Listed tightening tor ue values are for reference only. Actual re uired tor ue may differ.

D /DW /PD  drawings available on our website.

72

92

92

12

13
13

WPMB-M4-2

Screw M4-10

Material thickness up to t = 4.0mm

Hexagonal nut 
t = 2.4mm

Sealing washer 
t = 1.2mm

WPMB thickness 
t = 2.2mm

Installation example

Product no. / Dimensions
Product no. W D H a b Belt material Belt length Tensile strength (horizontal) Weight (g) Pack of

PKB-10PM 24 23 11 10 0.5 PET 500mm 0.8kN  14 2

PKB-10P 23 40 11 10 0.5 PET 1,500mm 1.3kN  31.8 2

PKB-10S (16.5) (49.5) 12 10 0.3 Stainless steel 1,500mm 1.4kN 101.6 2

PKB-20S (27.4) (49.5) 12 20 0.3 Stainless steel 1,500mm 2.9kN 182.2 2

NEW

Accessories (Optional parts)



PKB-1

PKB SERIES POLE MOUNTING BELT

PKB-10PM, 10P

0 0
0 

0

(49.5)

(1
6.

5)

(49.5)

(2
7.

4)
H

D

POM stopper

W

Belt length

PET belt

Stainless steel stopper Stainless steel belt

Stainless steel stopper Stainless steel belt

0.
5

10

1500

0.
3

10

1500

0.
3

20

12
12

PKB-10S

PKB-20S

Components
Part name Pcs Material Color / Finish

Stopper 2 POM • Stainless steel SUS304 Black • Barrel finish

Belt 2 PET • Stainless steel SUS430 Gray • Bright Annealed finish

PKB−10PM, 10P PKB−10S,  20S

PKB dimensions

■ New shorter belt type PKB-10PM is available for φ25 to φ60mm poles.

Other belt types are for φ60 to φ400mm poles.
■ Designed for one time use only (not reusable).
■ Strong stainless steel clamping type and easy installation plastic type are 

available.
■ Use SSK mounting bracket for installation onto a pole.

■   Drawings below are reference examples only. 
DXF/DWG/PDF drawings available on our website.

Product no. / Dimensions
Product no. W D H Belt material Belt length Tensile strength (horizontal) Weight (g) Pack of

PKB-10PM 24 23 11 PET   500mm 0.8kN  14 2

PKB-10P 23 40 11 PET 1,500mm 1.3kN  31.8 2

PKB-10S ─ ─ ─ Stainless steel 1,500mm 1.4kN 101.6 2

PKB-20S ─ ─ ─ Stainless steel 1,500mm 2.9kN 182.2 2

NEW

Accessories (Optional parts)

EN6_FTB-CK_MT_WEB.indd   23 19/10/18   10:15



●3 reasons for low initial costs

Cutting
process

Printing
process

Avoiding the cost for cutting die 
manufacturing via our in-house 
cutting plotter.

Saving the cost for print plates 
via utilization of our in-house 
digital inkjet printer.

Reducing the cost for the 
embossing die via our new die 
manufacturing process.

Embossing
process

Reason

3

Reason

2

Reason

1

●Comparison of current and previous manufacturing methods

Print data 
creation

Inkjet printing 
and laminating 

process

Cutting 
data 

creation

Cutting of double-
sided tape, pasting, 
cutting of individual 

piece

Print plate creation
Printing 

and 
laminating 

process

Cutting die 
manufacture

Punching of 
double-sided 
tape, pasting, 
punching of 

individual piece

Current

Previous

Cost・Production time

DIGITAL PRINTED OVERLAY

Custom-1



4. 

7. Machining on enclosure

2. Laminating

5. Cutting the sheet to size

8. Sticking overlay sheet onto enclosure

3. Cutting double-sided tape

6. Embossing

9. Complete

PRODUCTION PROCESS

CUSTOMIZATION EXAMPLE

Custom-2



INKJET PRINTING

Full color digitally designed image 
can be printed in 1 run.
No cost difference regardless of the 
number of colors used.

Full color print possible 
in small quantities

Low printing cost

Full color in 1 run

Inkjet printing

Repeat procedures x number of colors.

Ink Mixing Print Drying

Silk-screen printing

Printing cost x number of colorsSilk-screen printing

1 run only for full color printInkjet printing

Printing cost
Full color

Printing cost
Color 2

Printing cost
Color 3

Printing cost
Color 4

Printing cost
Color 1

Custom-3



Print photo images in maximum 1,800 x 1,800 dpi quality.
Pictures, logos and unique designs with color gradation can be recreated in a high quality print.

Printable on surfaces with height differential

High quality printing of photo image and color gradation.

D
420mm

W
594mm

H
270mm

W

H

D

Maximum printable enclosure size

Printed examplePrinting is possible on recessed, sloped and rounded 
sections.

Gap difference is less than 2.0mm.

Printing 
surface

Printing surface

Less than 
2.0mm

> 2mm> 2mm> 2mm

*Not suitable if height difference is more than 2.0mm.

Custom-4



CNC MACHINING
CNC milling is a form of computer controlled machining. Similar in operation to drilling and cutting, it is 
able to create various hole styles and shapes by using a rotating cutting tool to bore into the object.

・Mainly used for plastic, aluminium die-cast, and aluminium 
extrusion material types.

・Able to perform milling for various shapes and sizes.
・Recommended for small quantity customization.

Extruded aluminium

Aluminium sheet Diecast aluminium

Large plastic boxPlastic enclosure

Custom-5


	バインダー1
	wp_catalog
	WP

	wsc_catalog
	WSC

	bcas_catalog
	BCAS

	bcal_catalog
	BCAL

	spcp_catalog
	SPCP

	spcm_catalog
	FDR

	tmb_catalog
	TMB

	tmc_catalog
	rmw_catalog
	RMW～RM

	rm_catalog
	ag_catalog
	rsp_catalog
	pmf_catalog

	tkr_catalog
	1


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




